S
\.ﬂw ™~

N
(syw)y E u
0*0¢ 0% §* 91 () = b
0°sg+ $'s - g8 i+ (2) =B x
(u\ &) XERH— (W) (w) #H () W &
(760 ¥HERE
(W) HiYXE 8y /0 an an an (2.60) ¥ N %
) BERYH 8% /0 an an an (7,60) % 3
(9 fu) @ -v e 8% /0 an an aN (7.6 (W )vag
(9/60) *ETHIET 8y /0 B..o an aN (760 g
(7/6u) EBHHEH 8% /0 an an an (260 v 63 4«
(76w EZHYEHE g /0 aN an an (1.6 ~ « ® &
Q\ms Whuwxw 8 /0 aN aN an (3.60)  WEN A ¥ L
8¢ 6871 v6"Y 966 (9.6w) ¥ & F 8% /0 aN an an (260) -~ L ~
8¢ vgTy 91°0 1971 (7/60) ¥~ |
g aN an an (360) a—r=c gy Y xx0L*6L 2 *x0lxllL % »x0lxiL|(Jw00l /NIN)EHELY
8- 0570 0e°0 62°0 (06w) ¥ < <« 8 6°¢ an 2+2 (9,610 %%\@M&(Mlmw
8 an an an (6u) v o 7 W 8y /1 0Ll 0°1L 2°91 (76w (8S)EHGHE
8y 2570 aN an (0/6u) Ttk 8y Loz b 2'0L (760 (aoo) BFFE*H
8y 29°0 an $2°0 (7.60) B 5 # & 8y /2% §'12 0's 9'8 Q\%Xao@%%%%%
8y an anN anN (96w & il Ly /91 8'g 0°¢ §°s (7260 (0q) BE@H#
8y an aN an (7./6u) B 8% /0 82 99 2L (Hd) 3~ ) Y
u | axm [ v | wes wu | BYE | B | Bek
(78 O IR [T 'S g W e W ¥ CCENONGEHE

—46—



0s°81 g2°2 £8°¢ (s/u)y E W
8°62 9% L*Si (2) w® N/
0°0g+ 2°0 + 0°Si+ (2) = X
(pu\,/ &) BB H— (W) (w) F(w) ¥ ¥
(760 “HEDE
8y 094 8yl X33 (Wyom) HaDBE 8y /0 aN an an (260) & N
(%) @F®REH 8y /0 %00°0 aN an (76u) ¥ 2
(76u) vl o gy /0 an an anN (9.60) (W9 )vag
(96u) £STHRMES 8% /0 an anN aN (76w o
(7/60) EBHB@H 8 /0 o o an (060) v 6 dw
(7/6u) ETREEIE g8 /0 an an an (7.6 ~ ( ® &
(96w W\FHWAW 8 /0 aN an an (9./60)  WNeA s s
84y 046 §2°0 SE°Y (760) ¥ &8 T g8y /0 an anN an (p.60) ~ L ~
gy ls*2 00°0 25" (7/60) <% @G
8 €0°0 an an (96w wm\_\l\wn 8% S xx0l*ll € *x0Llx6Y % »x01x9¢|(Ju00l /NIN) ¥HELY
8 aN aN an (9.60) ¥ < <~ 8 2y an FAR! (7,6uw mﬂm\@,m%(ﬂl@cﬂ
g an an an (60) v o ¢ W 8% /SL 0°L%9 99 L°08 (760 (ss)BHGHRSE
87 0s°9 aN %70 (7/6u) AttroTlthi 8 0°s2 £'¢ 9°8 Q\%VSOOVW%MM%
8y 6v°2. aN %70 (96u) & F # 2 8y /LY Lhig 62 LUl Q\%Xaomvmwwww
84 650 an an (9.6u) & ] 8y /8 96 91 $*9 (760 (o) BLERT#
gy 9,0 an anN (9./6u) 3 89 /0 8/ L°9 2L | (HY) Fg ¥+ )8
u ByE | ByvE | Bk wou | By | Bvw | Sek
i B O I It 24 b4 )4 W H @
7 -

—47-



=

N
L6*Yy SL'0 ¢ ' s8TL (srw)y E W
8'se 16 L'si (2) B M
0*0g+ 0°¢ - L'+ (a) = 2
(gu\,8) XFEBH— (W) (w)  H(H) ¥ ¥
(r60) HFHETE
7y L2g 021 ove | (Wov) FERIYEE g8y /0 aN an aN (260) ® > 9
(%) B8 E 8y /0 anN an anN (9 60) ¥ a
(9/6u) F-wr i 8 /0 o aN o (760 (W9)vas
(9/6u) ESHHEZ g8y /0 an aN an (96w 3
(76w ESHEY 8y /0 aN aN aN (760 7 aFd&
(9/6u) ESHEEIE 8 /0 aN an an (760 ~ ( ¥ Y
(6w %,_..% e /0 aN an an (060) BNk L
8y 08" €l L0°0 §9*% (2.6u) ¥ & F 8y /0 aN an an (tw ~ L x
gr 2672 00°0 1oL (7./60) %1 @A
8 aN aN anN (9/6u) Ha—r=c 8y /89 % xx0L¥0L £ »¥0L¥L2 ¥ *x0LxsL|(Ju00L/NIW) BEHBEY
8 9170 anN an (9 60) ¥ < <« 8 0z 80 2L (7.6u) mn%\ﬁnm«v(ﬂmw
8 aN anN anN (960) v o 7 W . 8y /81 0450l 2'¢ 648 (760 (ss)ERGAE
8y 0270 an aN (9/6u) Tl 8y 6*22 Ll 2'9 Q\%Xaoovm%wwww
8 SL°Y an £9°0 (7,60) B & #H & 89 /LY 0'92 gL 89 Q\%qumvmwwww
8Yy £9°0 an aN (96u) B i 8% /S 80l £°9 9'8 (760 (0q) BEHELIH
8y 6270 aN aN (96w g 8y /1 v'8 8"l LA (Hd) F@ ¥ LV
u BYH | HvE | Bek wow | BYE | BYE | Bk
M VO %W 2| [T B



0g°2 72°0 LEeL (symy ®E & W
T g8*2 £ 91 (2) ¢
0'Llg+ o'l - 6 SL+ (2) ' 2
(qui/B) @ H— (w) (w) (W) @ &
(760 HRARE
LY 0£01 ssl LY (Wyon) HELEH 8% /0 an “aN an HQ\%@ N W
%) BREH 8y /0 900°0 N an (260) ¥ 2
(7/6u) ZR-~v) 38 8y /0 an QN an (240  (W9)vas
(9 6u) EESHHES 8y /0 an anN aN (960 %
(0/6u0) EBHEY 8y /0 CaN an an (6w v &3 AH
(96u) ESHEEIE g /0 an an an (2.60) -~ « B &
(7./6u) %hﬂ#\,% g8 /0 an an an (260) WAL
) 28"9 200 10*2 (p.bu) ¥ & % 8y /0 an an an (0600 ~ L
8y v6°0 %00 L£°0 (9/60) ~¥L@~u
8 an aN aN (9/6w) Wen—r=c 8y 7 *x0L*8S £ *»0lxgg v »xx0Lx21|(JU00L/ NIW) BHEEEY
8 an an an (7)) ¥ < < 8 ves . 0t 61 (060  SETom) B
8 an anN anN (p6w) v o 7 W . 8y /2 9251 v'g 622 (760 (59) BHGEE
8y SLoL an aN (76u) A~>TFHR 8y 7°91 L's 28 Q\%VSOOVM%MM%
8y 212 an 92*0 (7.60) B F % 9% 8y /€5 s'6z  0°% veLL (760 (q0m) B XN
8% 29°0 an an (96w) & ] 8% /0 9'0L 9*s L*8 (76w SSMM«E@W
8y 2070 aN an (9,6u) 53 g7 /0 8L 69 €2 (Hd) I+ BN
u UYE | G E | Berk wu | BYE | BEE | B |
M B oa o L A 2 [::3 M o ¥

A9 -



N

N
69°0 10°0 g2°0 (s ) E "
vl 0% 6'Y1l (2) B’ R
S*62+ 2°L - 9'SL+ () B =
(ul, &) REBH— (W) (w) () W ¥
(7/60) HFREDE
Ly sl gl 61 (Wyom) HEL KR 8y /0 aN an an (960 ¥ > %
%) EBREE 8y /0 £00°0 an N (96w % a
(7/6w) ZE~v 45 8y /0 aN aN aN (26w  (W9)vwmg
(7/6u) ESHHEZ g8y /0 an aN aN (96w 5
(7.6u) EEBHEH 8y /0 an an aN (260 7 &34«
(96w ESHEEIE 8 /0 an an an (0.6w) <~ « W &
(7./6u) Whuw\m 8 /0 anN aN aN (9.60) BN s
8y l6°¢ 00°0 00°2 (76w ¥ & F gy /0 an aN an (26) -~ L =
8y 19°0 00°0 ¥€°0 (760) ~+«rdi
g an an an (9/6w) Wn—r=c 8y 9 *x0LxEl 2 *x0lxil § »x04225|(7u00L/ NIW) FHELY
g 2170 an an (000) £ < ¢ g 8y an 2:2 (060 SRR B
8 anN aN anN (260) v o ¢ W . 87 /1 0*o0zl 9°0 9° 1L (760 (s8)BHGRAR
84 0z2°1 an an (96u) AT 8y 6" L0 6°1L Q\msaoovmwmwww
8y L5°0 anN 6L°0 (7/6u) B H # & 8y /0 8L 9°0 £°2 Q\%Xaomvm‘www%
84 28°0 an an (760 & & g8y /0 8°vL 9°¢ 6°6 (76w (0Q)BEHEIS
89 an aN an (g./6u) 3 8% /0 €£°8 £°2 YAV (Hd) Hg ¥ )Y
u BYF | wvE | Bek wou P BYE | B | Bk
M B a I I o 54 y W o ¥

—-50—



L9°€ 65°0 - gzl (s/w)y & W
9+ 22 $'6 2 Ll (2) = ¥
6'82+ . 0°2Z - 2'9L+ (2) =B -
y v %x0L¥sL § *x0Lx08 ¥ *x0lxll (Jul/B) BHEMWH— ; - , (w) (w) H(t) @
(280 BHATE S
8y §9% 2yl 29¢ (W) HigDBB g8y /0 anN anN N (260 & Ny S
%) FREH 87 /0 0100 an 200°0 (26w % a
(7/6w) vl es 8% /0 QN an an (76w  (B9)vug
(7/6u) *ETFHES 8y /0 an an an (76 R
(7/60) ESTHEW 8y /0 an an an (9,60) 7 a3 4«
(9/6u) ESHEEIE g8 /0 anN an anN (26w ~ ( B &
(76w mhuwxw 8. /0 an an an (9.60) N ¥ L
8% Ls™y LL°0 081 (06) ¥ & = 8% /0 aN an an (36 < L 4
8Y 7902 000 182 (960) ~¥vEi-~
8 anN an anN (26w %\_T\Hh 8y % xx0la¥%y £ »x0Lx12 € *+0Lxs8|(Ju00L/NIN) FHBEY
8 N an aN (7.60) ¥ < ¢ 8 8¢ 2L sz (960 M_MW\QM%(MI@
8 an aN an (96w) v o 7 W 8y 065 e 6°S¢ (76w (s8)BEUHE
8" an N an (7/60) Atttk 8y g'22 9°1 = (7./60) (aoo) B¥F*8
8% 05°0 an L0 (96u0) & F # % 8y /2 s L 0"l 0y Q\%Xaomvmwwww
8y €270 aN anN (960) & E:H 8y /0 Lol 2"y YA (76w (0Q) BEEHS
8y 0170 an an (7.60) i 87 /0 8L 02 v (Hd) T+ L3
u By® | BuvE | Bek uouw | BYE | BE | Bek
(7382 IR 1A s o +* m he  FE m

—51~



N
g2°2 oL*0 25°0 (s/u)y B 1
22 0°'S 95 (2) ® M
Lte2+ 52 - L°9L+ () B’ -1
(qur/8)) BEBWN— (W) (w) H(w) W E
(900 HRBDY
89 861 06 971 (Won) HEDSH 89 /0 anN aN aN (7.60) B X 9B
%) Ly 8y /0 £00°0 an an (9 6u) % 2
(96u) w138 8y /0 anN an aN (p.6w) (W9)vag
(96u) ESFHHMED 8y /0 an an anN (760 %
(96u) ETHEY 87 /0 aN . aN an (26 v 634«
(96u) ETHEHIE g /0 an an aN (p.60) -~ ( B &
(96w Whu@xw 8 /0 anN aN aN (760) N L
8y 91" 0L'0 2Lt (p.60) ¥ € T 8y /0 an an ' (38) ~ L ~
8Y 0270 00°0 120 (9/60) ~¥r@~0 _
8 aN © N aN (g0 a—rEc 84 "9 ws0L¥E9 2 *x0lx06 € *»0.L»08|(Ju 00}/ NIN)FHEBEEY
8 an an anN (06w ¥ < < 8 vy 0L 2*2 (726w mn%mmaﬁﬁmh@
8 an an aN (960) v o 7 W . 8% 0‘0£9 9'€ £°0s (76w (SS)EBRGAE
gr 050 an aN (0 6u) Ao T 8% 9495 £40 6°s (760 (a00) B8
gy €271 an 210 (0/60) B F # & 8y /1L 20l 20 £°2 Q\%Xoo@%%%%%
89 £9°0 an an (7/60) W 8y /0 S*iL 6°s 2'6 (760 (0q) B
84 SL°0 an an ( 96u) g 8y /0 8°L 2°2 S*d (pd) Fg¥ D
T EEE R wou | BYE | BvE | Bk
A O A A wWooF



(s/wy & u
£'s2 0°s 941 (2) = 2
0°0s+ 0°2 - 5L+ () - & %
(pui/B) % H— o . (wy (w) W(t6) W B
(80 HRBBY |
(Won) HiDEER gy /0 an QN an (060) ®W® X W
(%) FREH 8y /0 aN Kl an (060) % 2
(7/6u) Fvl 48 8y /0 “aN AN an (960) (W9)7ms
(76w) ESFHRES gy /0 an aN an (96w s
(0/60) ESHEW gy /0 aN an aN (06w 7 aFd¥
(7/6w) HETTGHIE g /0 aN o N (p.60) ~ ( B &
(96w Wﬁuwxw 8 /0 aN an an (7/60) BN xL
gy 0L°2 g4*0 80°1 (g0w) ¥ & F gy /0 an anN aN (p) ~ L~
8Y 99°0 s$L°0 §£°0 (7/60) ~¥v@~
8 an N an (7/6u) Bv—r~c Ly /9% v xx0Lx9l 0 *»01¥05 £ **0Lx91|(7u00L/NIW) FHEEY
8 aN aN an (000) ¥ < < 8 v an an (60 SETR) B
8 aN an aN (360) = = ¢ W 8y /8 0°59 9'0 6°5L (760 (s8)BHUHS
8y QN aN aN (7/60) At Tl 89 Loy 1*0 Lol (7./60) (a00) 54
8y an an an (9/6u) & W # % 8y /0L s’ ~0%0 vil S\msaomvwwww%
84 an an an (7/6u) & & 8% /% o€l 1L 86 (760 (0q)BXHIH
84 aN an aN ( 9.6u) ‘ fiiz 8y /¢ 68 €2 6°L (gad) Fg ¢ 1Bl
u ByE | B | Berdk wyu | BYE | BE | B
(732 A TR 'S H ¥ .4 W & &
o

53



7

N
00‘zY 08*9 6'sl (s/w)y E W
v'g2 LS €9l () ®w b
D'62+ 0'2 - 2°cL+ () = =4
(Jul/ &) % HEmH— (W) (w) (W) W ¥
(960 HRETY | |
(wyom) HEiLBE 8y /0 an an an (2.6 ® X %
(%) BREE 8y /0 aN an an (9. 6u) % a
(9/6w) w48 8y /0 aN an aN (7.6w)  (W9)vag
(96u) ESHHES g8y /0 aN aN aN (96w o
(96w) (ETBREH 87 /0 an aN anN (280 v &rdu
(9/6u) ESTPRIE 8 /0 aN an aN (060 ~ (% &
(76w Whuwxw 8 /0 an aN an (3,60) ¥ x L
8y 09°2 6170 £0°4 (p.b0) £ & % 87 /0 aN an an (2.60) ~ + =«
8y £9°0 sLT0 7€°0 (0/60) ~¥r@~ ,
g an an an (96w ¥gv—/r=c 99 /Sg v *x0Lx92 | *x0b¥sl § »»01x£2|(JU00L/NIW) BEHBLY
8 an an N (7.60) ¥ < <« 8 8°0 aN an (9./60) mn%\ﬁ%(mh@
8 aN anN anN (7/60) v o 7 W . gy /2L 0°€91l 80 Lrse (960 (s8)EHGAE
8 a a an (7./6u) ATt 8 6% 2°0 21 (260 (a00) (¥ E*H
8% aN aN an (96u) B F # & 8y /¢ 62 2o el Q\&ZaovaMW%
8y anN anN anN (9/6u) & il 8y /£ 0%l 89 6°6 (760 (0q) B¥@L$
g% an aN an (9,/6u) 3 8y /2 6'8 LA} ] (HO) Fghk B
u | BYE | BuE | Bek wou | BYE | BEE | BEk
(78-S A T s WE o W W 6B &

~54—



(s/w)y E u
0°se 0°s $tsL (2) = M
S*og+ 02z - 251+ (%) = -3
(ui/ &) B EBH— | (w) (w) () 8 E
(76u) WHREDE
LY 061 g8 o (W sar) HH %R 8y /0 an an an (96w) W ¥
(%) B & &5 8y /0 200°0 an an (760) ¥ 2
(76w 018 87 /0 an an an (96w (W9 )vng
(96u) EETHES 84 \o, anN an an (760 o
(7/60) ESFHEH gy /0 anN an anN (6w 7 44k
(96u) ESZFEEE 8 /0 aN an aN (76w \,,: W OE
(76w Whuw\,w g8 /0 an anN anN (2/60) WAL
8y 9L°L 00°0 86°0 (06w ¥ &8 T 8y /0 aN an an (380) -~ L ~
8y 0s°0 00°0 £2°0 (7/60) ~¥L@~a
8 an an an (96u) Wn—r=c 8y /8% 9 *x0LxLL 2 *x0L¥06 £ *»0Lxs5| (w00l NIN) WFHHBEY
8 an aN an (96w % <« <« 8 8" 8°0 62 (760 ﬂmwww\@mm(ﬂ@
8 aN aN anN (7/6w) v o 7 B . 8y /81 9* .98 g°¢ Lres (760 (88)BRGHE:
87 sv72 aN an (0/6u) Tttt 9 £ 5*0 901 (7,60 (a00) & E*E]
8y 09°0 aN L2*0 (9 6u) & T #H & 8y /il 9%y 0°0 Lol Q\%Xao@%%%%%
8y $6°0 an aN (7.6u) i 8y /1 6'21 LA 901t (760 (0q) BERLH
8y S0°0 aN an ( 96u) filx 8y /2 6'8 92 8. (HI) FHE - L B
u By®E | BvE | Bk wou | axyw | Bvw | Bk
7 2 A (TS 2 L7 iz W & &

—-55—



N

! "
(s ) E w
s*22 0's 0'sL () = ¥
s'62+ §'2 - 6° 9L+ () = =
(Ju\ ) ¥ZEmH— (W) (w) H(H) ¥ &
(760) EREEYE
£ 271 £8 £01 (W) HiDBR 8y /0 aN aN anN (06w B > %
(%) FREZH 8y /0 £00°0 aN aN (26w ¥ a
(7/6uw) H@-wl s 8% /0 aN an anN (760) (W9 )vag
(26u) LEHMET 8y /0 aN aN aN (76w o
(7./60) ETHEH 87 /0 aN an an (06 v axdu
(7/6u) ETHYHE 8 /0 an aN an (26w ~ ( B &
(796w Mhuwxw g8 /0 an an aN (7.60) BN+ s
8% 96°s 00°0 s0*lL (r6w) ¥ & F 8y /0 anN anN aN (76) -~ L =~
8Y 29°0 00°0 %2°0 (0/80) ~¥rd~i
8 aN aN an (7/60) ¥r—r=c 8y /89 € *»0LaS 2 »x0lxgy € xx0,»02|(JU00L /NAN) BELBLY
8 an aN an (7.60) ¥ < < 8 vy aN 8'2 (260 SEESHR) B
8 aN aN aN (360) v o ¢ M . 8y /91 085y 0's 298 (060 (SS)BHGTE
e 08"l an aN (0/6u0) At Tt 8y beg 90 51 (7./80) (a0o) FFE*H
8y 95°0 an 6L°0 (76w & FH # % 8y /9l s's 0°0 8l S\&Xmomvmmwww
8y v6°0 anN an (9%u) & E:i 8y /1L 621 9L 2°01 (760 (0q) BEHEH
8Y 71°0 aN aN (9.6u) fiig 8y /0 v'g £°2 8L (HI) -+ LBy
u Bxg | Brvm | Bedk vu | wyw | BE | Bk
v oI % £ ¥ 4 W &

-56—



(pul &) BEmH—
(760) BHEEY
(Wom) HFixB
%) FRvm
(7/6w) @) s
(760) (ESTMET
(960) ETH@EH
(06w S
(o6 % ,_, %
8Y 00°2 €90 6e” | (2.60) ¥ & =
gy 8570 610 S€'0 (7/60) ~x1vd-q
8 <00 aN an (260) Sr—r=r
8 aN aN an (7.60) % P
8 an an an (260) 7« a 7 W
8y QN aN an (060) b T
gy an an anN (9.60) & F # &%
8Y an an an (96u) & W
8% an an aN (726w i
u e EXE N
i B v ol [uk

(s/w)y B ,K_x
0°s2 82 291 (a) = M
0°0s+ 0°2 = yrgi+ (2) = s
(W) (w) H () W &
8y /0 an an aN (2.60) ® > %
gy /0 an an an (760) % =
8y /0 an an aN (760) (W9)vays
8 /0 an aN an (760 &
8y /0 aN an anN (7.60) v a3 du
g /0 an an an (2.60) ~ o % &
g8 /0 aN an anN (06w WL
8y /0 an aN an (2.6 ~ + «
L /Ls 7 *x0LxEl L *x0l*lL § *x01%02|( w00l /NIN) WFLBLY
8 9:0 aN aN (060  SErER) Bl
8y /¢ 0801 0°0 6°8 (060 (88)BRYT%E
8y 9'y 0 sl (7.6 (00) %%M%%
8 /9L 22 L0 9°1 (9,60 (q08) i Bt
8y /9 0'st 99 L*6 (260 (0q) BERLH
8y /1 8'g s L (Hd) ¥ LU
vu | wYE | e | ek B
# lif £ QIEBA[TTES s

—-57—



N/
(s/w)y E 8
992 0L €5l () B P
8°0g+ 0L - L'9L+ (2) = =4
(Jur/8) BB H— , (W) (w) H(w) ¥ &
(3 m) EREBY
8y 8¢ 621 992 (Won) HEDYEER %2 /0 aN an an (2.60) ¥ X
. % ERECH vz /0 22040 an . 810°0 (760 % =
(960 R vz /0 aN an N (0/6w)  (W9)vumg
(9/6u) ETHHES "2 /0 aN anN aN (96w o
(760 £SHEH %2 /0 aN an anN (26w) 7 43K
(06u) ETHEENE v /0 an an anN (76w ~ ( ¥ &
(76w Mhuw\w % /0 an an aN (0/6w)  W¥ L
ve 084k 90°0 IPRD (p60) ¥ & % w2 /0 aN an aN (06 <~ L =
"2 ls"0 00°0 92°0 (760) ~¥VE@~a
Y anN an anN (9/6u) Wr—r=c 8y /8% € x¥0Lx%8 2 *»0L*8% £ xx0ixg2|(u00L/NIN)SEHEHEY
Y 9170 aN anN (9 tw) ¥ < c¢ Y 9°¢ an 6% 1 (76w mnw\ﬁ%mhm&
Y anN an an (9 6w) v o 7 W . 8y /g 0*2sYy 9°0 961 (76w (s8)ERGHS
8s aN an an (0/6u) AT 8y 22 00 2*2 Q\%Eo@%%www
8¢ 0€°0 an an (7/60) B F #H 2 8y /8L £'¢ L0 8°1 Q\%Xaomvwwwww
92 £€°0 anN anN (96u) @ E] 8y /0 8 L1 L*8 L6 (7./60) (0Q) BEHLS
92 an an an (76w fis g8y /0 0's () 9L (HA) HE kLY
u BxE | 9vE | Bex vou @y | B | Bes
728 -2 A /TS H I B

B I

-58—



28 19°0 85" L (s/wm)y E W
§*L2 0°8 6°sl (2) ® b
6'82¢+ 0L - 6°9L+ (2) = 3
(ui/B) FRMH— (w) (w) (i) W ¥
(760) HHETY
LY si§ 981l 642 (W) BRGEB 92 /0 N an aN (7.60) & >
(%) FREBH 92 /0 £10°0 200°0 800°0 (96w) ¥ a
(7./6u) H-w) 3 %2 /0 N aN anN (7600 (W9)vus
(9/6u) ETTHES 92 /0 aN N an (76w s
(7/6u) E£BHBHY ¥2 /0 aN aN an () 7 6 dK
(0/6u) ETHEE v /0 aN aN aN (2.80) ~ ( % &
(o0 %,_..% v /0 an aN aN (0,/60)° BWNxas
92 60°2L 80°0 g8°l (p60) ¥ & T 92 /0 an aN an (3.60) ~ L =~
v 99%0 91°0 50 (760 ~¥rdisq
9 aN QN anN (360 Wv—r=c 8y /89 v a0Lall 2 *»0L¥E9 £ *x0Lx0S (qu00L/NdN) BEEEY
v £1°0 aN aN (7.8) ¥ <, c v L' 2L 2 (o 00)  SFIR) B
Y aN ©aN aN (g6w) v o 7 W . 8y /2 0°s9Y 80 9461 (760 (s8)BHUHS
9¢ aN aN aN (9/6u) At Tt 89 9* L "0 g2 (760 (q00) FFE*H
9 070 an o (7/60) % % % & @ /v eSO 2*2 (2,60 (qom) i E A a
e 0z°0 aN an (9/6u) B E:d 8y /0 L 9°2 %6 (760 (0q) BERESH
Ye anN aN an (96w o 8y /0 v'g L9 s*L (Hd) Hg ¥ LB
a | BY® | BvE | B o u | Y E | HIE | B
Mg i (wmiH)no g TR B

~59—



N
$9's 8L 970 (srw)y B 8
8's2 6'8 L'yl (2) & ¥
9'62+ 0'L = 6°9L+ () = =2
(qur/8) B H— (W) w) F(iw) w ¥
(3,00 WHEBY
8y 66 69 i8 (Wor) HieLLR 92 /0 aN an anN (2.60) ® X %
(%) IRECH 92 /0 0200 aN 1000 (06w) ¥% a
(7/6u) Fl-v i "2 /0 aN an aN (7.60) (W9)vas
(0/6u) ¥EEFEHES ¥z /0 aN an aN (760 &
(760) EBHBHY %2 /0 aN an anN (160) 7 63 d¥
(7/6u) ¥EHEEE Y /0 aN aN aN (2.00) ~ ( @ %
(e %, _. % v /0 an an aN (0/60)  W¥A e L
v2 0z°9 20°0 06°L (060) ¥ & 3 %2 /0 aN aw aN (18 ~ » =«
”?2 v0°¢ 00°0 §2°0 (7/80) ~¥L@~a
L] aN aN anN (26w) ¥gv—r=c 87 /8% £ »#0L%%6 2 *»01»02 § »»0Lx5g|(Juw00L/NIN) SELBEY
v £1°0 aN aN (0.60) ¥ < < v 52 aN 21 (100  SHEE) W
9 aN aN aN (3.60) v o 7 W 8y /1 s*8g 9°0 L (76w (s8)EBURS
g€ aN © N aN (9,/60) Al TSR 8y Tty 0°0 0L Q\%Xaoovwwwwm%
8¢ 02°0 oN aN (7.60) B E # & 8y /0 §°2 0°0 2°t G\&Xoomvwwwwm
92 62°0 aN aN (7,/6u) & ‘89 /0 6L (3] 6°6 (76w (0q) BEES S
"2 oN aN an (7,/%0) g 89 /0 £'8 £°2 9°L (Hd ) < ¥ LU
v | BY®E | BuE | Beks v u | BYE | BVE | Bk
73 -2 Q[T s (gmgH o W & &

—60—



80'¢ L£*0 €8°0 (s/w)y B W
0'ig 0*% 2'sl (2) = b2
§tag+ 0's - L'sL+ () =®» %
(ui/B) BB H— . (w) (wo) H(He) W ¥
(760) HHEZE
8y 11 ost 782 (Won) FEieDEE 92 /0 aN anN aN (7.6w) ¥ > W
(%) #F®EEH 92 /0 aN aN an (760) % a
(7/6uw) ZHgvyie "2 /0 aN an aN (760) (W9)vag
(06u) EBHHES %2 /0 an an aN (761 &
(7/6w) ¥EBHWH 92 /0 an an aN (260) 7 ard¥
(76w EEHGEE v /0 aN aN an (06) < ( B &
e %, _. % v /0 aN aN aN (0/80)  WH v L
92 0y st 200 86'Y (9.60) ¥ B T %2 /0 aN aN aN (28) -~ L '~
v2 06" 1 00'0 28°0 (08 ~x1ls
Y aN an aN (3/6u0) Wrv—r=c 89 9 wx0L¥BY £ *»0Lxil v »»0i»sl|(7200L/NIW) SHEBELY
’ 170 aN aN (7.60) ¥ < <« 9 g 0L 61 (760 ﬁmw\,@mﬁm:mw
) N aN aN (9 6w) v o ¢ W . 8y /92 0'ggs? 8°6 L*292 (7/60) (s8)BHGHE
8€ 79" 1 an aN (760) ~AtroFl@ 8 9's2 2'1 §'¢e Q\&Xaoovm%wwww
8¢ oLs anN 26°0 (760) B T % & 8y /u2 902 L0 $*9 Q\%VSOGWMWMM
92 29°0 aN aN (96u) & E: 8y /0 Ll 9°9 "6 (760 (o) BLEEH
92 9%°0 aN ¥0'0 (9,6u) filg g8y /0 0's £ L E&Mﬁxi%ﬁ
u Bx® | BvE | DL u/w | BYE | BrE | Bk
w0 I fu (oo W K &

—61—



P

N/
82'0 22'0 §2°0 (s )y E w0
$'1g §'2 LSt (a) = M
steg+ 0'2 - 9'sL+ () =’ %
(qu\ &) REMH— (w) (w) H(m) W¥
(76w) BREEE
8y 096 0gl 00% (wyom) HiD LR %2 /0 aN an aN (26) B > %
(%) FREH 92 /0 20040 anN aN (76w % a
(7/6u) FH-v1is vz /0 aN an an (26w (B9)vus
(7/6u) E£EFHES 92 /0 an anN an (960 7
(7/6u0) EESHEYN %2 /0 anN an an (96w 7 63FA¥K
(76u) ESHEHIE % /0 an an anN (06w ~ ( % &
(76w W:uwxm v /0 anN an an (7 60) BN AL
92 0%°8t 12t Lt (ptw) ¥ € F vz /0 aN an anN (6w ~ L =~
92 0s°s 250 £2°1 (7/60) ~¥v@~a
Y an aN an (7/6u) Wr—r=c 84 § »x0Lxll € »x0lxly % *x0Lx92|(7u00L/ NIN) BEBEHY
" 8170 aN aN (96w ¥ < < J L'y an 6'2 (76w %%T@M»%muw
Y anN anN aN (p6w) v = ¢ W . 8y /0L 0 %66 9°s 999 (76w (s8)BERGHH
ch 29°2 aN 070 (96u) e 8y 0*22 2'y 0° L1 Q\&Xoo%wu%wmﬁﬁw
8¢ 0g°2 aN s%'0 (76w) ¥ % #H % 8y /i€ 0'9¢ 0°2 9zl (96w Somvwmwﬂ
%2 910 anN an (760) & i 8y /9 LUl L2 s (96w (0Q) BLHELH
%2 0°0 an aN ( 9./6u) fuig g8y /0 18 89 LA (gd) Hg ¥ LB
u BY®E | BrE | Bk wow [ @ym | BrE | Bk
[:728: 2O BN QLS (BYULN([EL ) o fi( 1

— 62 —



oL°tL 00°0 100 (s/w)y E W
8°Lg $*y 0°94 (2) & M
S9g+ o.p. + 9L+ () =B o
(qul/8) REBH— (w) (w) #H(w) W&
(760) WHETE |
(W) HieDEXB 92 /0 aN aN aN (2.60) ® X %
(%) FRE 5 %2 /0 aN an an (72,6u) % 3 _ 2
(7/6u) =) 48 %2 /0 an aN anN (76w (W9 )vng
(96u) ETFHHES 92 /0 aN an anN (26w o
(760) ETBFHEW 92 /0 aN aN aN | OB 7 ard«
(76w EEHEEIE " /0 aN’ an aN (2.60) ~ ( #® &
(7./6w) Whﬂ#\m % /0 anN an aN (73,60) WML
e . 00711 06°2 §s*9 (2.60) ¥ &8 F 92 /0 aN an- aN (0 8w) ~ L ~
2 0g'9 0%l se'€ (060 <+~
v AN aN an ( 7./6m) mmélxu..n 8% OL»»0L»9L | »»0ilxglL 8 *»x0Lx2%|(Ju00L/NIW)GHEEY
v 520 aN g8L°0 (7.60) ¥ <« <« » 2'1 an 20 (r60) L) B
9 an an aN (26u0) v = ¢ B . 8 §*€sl 0'¢c 0°2L (76w (s8)BHGAS
ve. 021 aN aN (9/6u) s Tttt 89 099 g9 0°si (7,60 (a00) B
72 0.°0 an 72*0 (7/60) B F # % 87 /28 0'9¢ Lt €91 Q\«@Eo@%%%%w
92 aN aN aN (9.6u) & E:) 8y /1L 92 6L gy (7260 (0q) B¥EmS
92 an an an ( 9/6u) [ 8y /0 0's 8°9 LA (HY) FH & L2
T E R | wow | BxE | Byvw | Bex
(73 -3c [T (B> o It W o

—63—



L
91°¢ 00°0 6%°0 (sywy & »
g°lg 0" L*91L (2) ® M
695+ 2‘0 - 9°9L+ () = %
(ul &) RHEBMN— (w) (w) H(H) W ¥
(7 t0) WREEE
(W on) FEYEE 92 /0 aN aN aN (7.6w) @ >
(%) ERE %2 /0 600°0 aN an (9.6w) ¥ |
(7/6u) Z )45 %2 /0 anN an aN (9 6w) (W9)v7mg
(76u) ESTHEZ 92 /0 aN an aN (9./60) g
(06w ETH@EH 92 /0 aN aN an (760 7 6¥AHE
(9/6u) ESTEHIE v /0 aN an aN (7.60) ~ ( B &
(7./6u) Wﬁuw\m v /0 an an an (0/6u)  WNA*n L
92 00° 91 00°€ WS (7.60) ¥ &8 F %2 /0 aN aN anN (o) ~ L ~
2 0s°s oLl se°¢ (7/60) ~¥ @~
Y aN anN aN (96w Wv—r=c LY 2L%x0La92 2 *x0LrgL 0L¥*0Lxvs|(JU00L NIN) GLBEY
y $2°0 an 8L'0 (960) ¥ < < " an an aN (76w ﬂm sam(whm*
y aN anN aN (960) 7 = ¢ W . 8y 098 0'0 s Ll (760 (S8)ERGRE
92 an an an (7/6u) AT 8 IR APY: 8'9 0°gl Q\SVSOQVW%M%&
LH 0s°0 aN 210 (96u) ¥ F # & 8y /€€ 9°9¢ 92 9°'s1L Q\%Xaomvmwwwm
92 aN aN anN (9 6u) & W 8y /2 £ 2*L 9y (960 (0Q) BERLR
92 an aN an ( 7.,/6u) i 8y /0 18 69 "' (Hd) Z <& LU
v | #xE | BvE | B wouw | By | BvE | Besk
(78-S QTS (#hgH o I T -

—64—



80°6 000 28°2 (s/w) B Y
2res 0 §* Ll (2), B b4
L*oc+ 0°L - Lol (%) = X
(ul, &) WFHEHH— (w) (w) FH(w) W ¥
(76w) BREEG
(Wom) E#HIGEB vz /0 an an aN (960 & M W
%) F®REH 2 /0 an an aN (7/60) #% 2
(96w) w45 ‘ 92 /0 aN an an (960) (W9)vug
(96w Mﬂﬁ@@ 92 /0 an an an (76w o
(7/610) % BH@H %2 /0 an N N (0 E) v G Ak
(9,/6u) EEHRENE Y /0 anN an an (2.60) -~ ( ¥ &
(60 F,-2.% v /0 aN an N (3/60) BN L
42 00°sl 0s*1L $6°€ () ¥ & F 92 /0 aN anN aN (p.60) ~ L =
92 0s'¢ 85°0 202 (760 ~¥v@~
4 an an aN (9/60) ga—r=c iy L *x0Lx99 L xx0L%9% 9 xx0lx61L|(Ju00L/NIW) BHIEEY
v 85°0 N 92'0 (9, 60) ¥ <« ¢ y an an an (060 ST B
Y aN aN an (9.60) 7 o ¢ W . 8y 0*%¢ 0L s*8 (760 (s8)BHGES
ve aN ax an (7/60) o 8 0oL 2z 5% (260 (a00) ¥ E*H
vz 00 aN an (2/60) & 5 % % @ /L oSt 0L 6's (2,60 (a0 (EEY
e aN aN aN (96w B E: 8y /e 8's §°0 . 0°s (96w (0q) BEHLH
92 anN aN an (96w g g8y /0 2'8 () Lt (H9) Fg -+ LBV
u | mx® B — H & o u/uw | mxw _ N ESE
748" -2 c QIS (% #ono

W = H

—65—



=

N
8s*L. 00°0  z2°'0 (s/w)y & L
S'ig 0°L 69l (2) = M
0'ss+ 0°0 LTLLe+ (a) = %
(ui/8) REWH— (W) (w) () W ¥
(r/60) ¥RERY
(o) HERDEBR 92 /0 an an an (160 B ¥ B
% FROH %2 /0 910°0 an aN (260 ¥ a
(7/6w) W) 48 92 /0 aN aN aN (76w  (W9)vmg
(0/tu) *TFHEZ vz /0 aN aN aN (2./60) &
(7/6u) (BHREW 92 /0 aN an an (7.60) 7 G d«
(7/6w) ETHBHIE 9 /0 an aN aN (180 ~ « % &
o0 %, _. B v /0 aN an an (0./60) BWrevs
vz  00°5L  08°L £8'¢ (060) ¥ & 5 %2 /0 an an aN () < L =
2 0"y $0°0 bt (7/60) ~¥r@ia
Y aN aN an (7/6w) Ev—r=c Ly § »x0La%2 | *x0L%9% 4 »»0L»5%| (w00l / NIN)FHEEY
v 5270 N L0 (1.60) ¥ < « y oL aN 2'0 (260 SEEER) W
Y aN aN an (p0w) v o ¢ W . 89 §'s92 0°s 6'0¢ (76w (s5)ERGAR
"2 an aN an (7/6u) Tl 89 Y £°¢ 1’8 (960 (aoo) B ¥ E*H
2 0g°0 an an (760) BT & 89 /6 £°02 L'l 8'9 .Q\%Xaoemwwwm
ve aN aN an (7/6u) & E: 8y /L 8¢l 0L 82 (76w (oq) BE@EH#
92 N aN an (9/6u) g 89 /1 '8 £ 8L (HI) ¥ LU
v | BYE | ANE | Bk wyu | BYE | BEE | Bedk
(728 2 J [T (#mdH o Jut i m 4

—66—



202 00°0 640 (s;u)y E U
8°0¢ 0°2 L*st (2) = M
: 0'Ys+ PRI 2° L1+ (2) = S
(ul/B) X% WH— (w) (w) () W ¥
(76w MREDE
(W) FiYXE vz /0 aN an an (2.6) & Y %
(%) Fw&H vz /0 800°0 anN anN (06w % =2
(96u) ZE~¥) 48 vz /0 an an aN (76w  (W9)vwog
(7/6u) ESTMES 92 /0 an aN an (260 o
(7/6u) £SHEH %2 /0 anN aN aN (3 v ardu
(9/6u) ESTHEEIE v /0 aN anN anN (7.80) ~ ( ® &
(7.6u) Whﬂw\w v /0 aN anN aN (96w)  WN¥vs
92 00°61 08°2 9L°¢ (p6w) 8 8 F 92 /0 an an an (9,/60) s Lz
92 09°6 £8°0 90*¢ (7./60) ~xr@i~u
) aN an anN (960) Wr—r=c 94 6 *»0L*%8 € *x01l*0. 8 *¥0L*8L|(Jw00L /NIWN)EHELAY
y $2°0 aN 8L°0 (9.60) ¥ < < 9 6°0 an 9°0 (9,/61) muw\mmm«vzwlmv
Y aN aN aN (26u) v o 7 B . 8% 0‘o0gi §°0 LA (760 (88)BHGHE
22 aN aN oN (7/60) ot e 0'sz 9'c 0*0L (240 (a00) ¥ LY
v2 £2°0 N LL*0 (7/60) % F# % 89 /L 0°% 2°2 66 (260 (dom) i AH
72 anN aN anN (96u) & E: 8y /2 g0l 9°1 L9 (760 (0q) BERHH
92 an an anN (160 e 8y /0 s'g 0°2L 9°2 (Hd) 3@ ¥ L
u N EXEEECE: wouw | wyxy | eE | ek
B oa b I (g o N o ¥

-7 —



5 N
66°8 00°0 1572 (syuwy =& 1
2°82 0°2 €51 () = N
0'sg+ L*0 + 891+ () = =2
(ui /&) FHEmH— (W) (w) () @ &
(760 HREEY
(Wor) HieDEB 89 /0 an an aN (260 & > %
) FRwEeH 8y /0 900°0 aN an (760) ¥ a
9y 0°0009L 8°'86Y 9°LL6% (7/6u) Fa v o 8y /0 aN aN an (760)  (W9)vag
(76w) ESFHHES 8y /0 an an aN | (76w &
(7.60) ¥SHEW 8y /0 an anN aN (2.6 7 a:d«
(96u) ESHPEE 8 /0 an an anN (7.60) ~ ( B &
(96w Whuw{.w g /0 an an an (76w) BN L
LYy 00°se 0s°2 209 (26u) ¥ & F 8y /0 aN an anN tw ~ L -~
8 0004 820 sv's (9/60) ~¥L8~
8 aN an an (2/6w) ¥a—r=c 89 ZLxx0Ll»9S § »x0Lx8S Lixx0Lx9L|(Ju00L, /NIW) BELELY
8 85°0 an 22*0 (7.60) £ < ¢ 8 2L an an (9,64 ww\mmm(m]@
8 anN aN anN (36w) v o 7 W Ly §*2e $'0 2's8 (960 (8S)BHGRS
8 aN an aN (0/60) cwceo Tt 8 891 5ty Lo (2./60) (a00) & ¥ E*H
8y 0s°0 aN £1°0 (760) B F #H & 8y /L2 8'sg 02 v'el Q\%Xaomvwwwwm
8% 82°0 anN an (7 6u) B £ By /9 8¢ 2'1 8'¢ (9.60) (0q) BEHLS
8y anN anN an ( 7/6u) g 8y /2 0%6 0°2 9*2 (Hd) HH< ¥ LU
u B¥¥ | BvEm | Bk ww | BYE | HE | Bk
e B¢ o i ¥ = By I a

—68—



0s°81L 00°0 12*s (s/u)y E L
8.2 0'0 S vl (2) B R4
0°9g+ 90 + L°9L+ () w 4
(ur/8) BBwH— . (W) (w) (i) @ B
(76u) HHREEYE
(Wom) B BE 8% /0 aN aN an (16 & N %
%) Ty 89 /0 800°0 an aN (9 6u) ¥ 3
vy 0°0002L 0°028 9°s6le (960) Hhg w1 s 89 /0 aN aN an (76w  (W9)vays
(76u) ETHMES 8y /0 80°0 an an (76w o
(76w EZHHEH 8y /0 an aN an (P 60) 7 4 du
(76u) ESHwsE g8 /0 aN anN an (26w <~ ( ¥ &
(79./6u) Whuw\m g8 /0 an aN an (9 60) BV s £
8y 00°92 06°0 £5°s (26w ¥ & 3 8y /0 an an an (26w) ~ 1+ =
8y 00°s L0 §2'2 (76w ~*1d~( .
8 an an aN (760) Wn—r=c 89 8 *x0L%92 2 *x0Lx%l . »+0L»92|(7200),/NdW) EHELY
8 85°0 CIPERY (7000 ¥ <« ¢ 8 9L an an (260 SEER) B
8 an an an (96u) v o 7 W 8% 0°se 0L '8 (260 (88)ERGES
8y an an an (0 tw) Tl 8y L's2 £ 6°01 Q\%Xaoovm%ww%
8y 62°0 an ZL o (9,60) & F # % 8y /82 22y §*2 0°slL S\%Xoomvwwwwww
8% ££°0 aN an (76u) & il 8y /2 6°1L vl 9ty (760 (0q) BExwmys
8y aN an an (7.6u) ol 8y /2 8'g 0*2 Lt (gd) g x Lo
u Bxg | vy | deL vw T ayy [ BvE | Bk
(7= Sc N IS e &t e W B #H
—

—69—



oY

Ny
S Z ) W
L6l 89 LSt (2) = b2
$*'82+ 9'S 4+ L'9L+ (2) = =2
(qu\/B) ¥ EBH— (W) (w) H(w) W ¥
(760) HHETE
(Wyon) e BE 2 /0 aN aN aN (26w B >
%) E®REH 2 /0 an aN aN (96w % a
(76w R~ 35 2 /0 aN an an (9 6w) (W9 )vas
(96u) E(SHHET 2 /0 aN an anN (7260 %
(76w E(SHGEH Z /0 aN aN anN (960 7 &> A«
(96u) ESTHEEE 2 /0 aN N an (7.60) ~ ( ¥ &
Q\m& Mhuw\m 2 /0 anN aN aN (2,60 ¥ xv L
21 26°s §9°0 7102 (p60) ¥ & F 2 /0 aN aN aN (60) ~ L =«
2l 2470 $0°0 oL*o (7/60) ~¥1@~0 , |
2 an aN aN (96u) ¥r—r=c 2L /Ll € »x0l*66 | *x0l¥9L ¢ »»0ilxv2 (w00l /NIN) SR
2 79°0 L£°0 190 (p6) £ <« < 2 aN an aN (7./6u) muw\%ﬂa
L aN aN aN (g60) 7 o ¢ W 2L /L 2'se 0'0 2's (76w (8S)EBHGRSE
2 an aN aN () bu) AT 2L L 6%9 £°1 0°¢ Q\%Xaoovmwmmwﬂ
2 an aN an (760) ¥ T # & 2L /9 9's g8°0 €2 Q\%Xaomvmwwwm
2 an aN an (7,/6u) % W 2L /0 L'yl L8 $*04 (760 (0q) BEHESS
2 an an an ( 7,/6u) s 2L /0 9°2 L2 "e (HY) F £ L PE
v [ wyE [ @vE | Bk vou | WYE | BEE | Berdk
728 A I S % (TR, w3 B

-70-



(ow B W
822 2*9 Ls) (2) = b4
9°82+  h'L 4 gTll+ (2) = %
(Jul/B) % B H— (W) (w)  H(w) 4 &
(7.60) HHEEE
(o) HEDER 2 /0 an an an (06w) B > o
%) FRY 5 2 /0 an aN an (60 % 2
(7./60) Wiwer i 2 /0 an an an (0./60)  (W9)vas
(7/6u) ETTHES 2 /0 an aN an (96w %
(7.60) £SHEW 2 /0 an aN aN (2.60) 7 4o«
(96u) ESHakE 2 /0 aN aN aN (260) ~ ( W &
(60 %, % 2 /0 o an an (0/60) BNz
2L 25°¢ £5°0 8% (r6u) ¥ & F 2 /0 anN aN anN (26) ~ L «
2L 100 £0°0 600 (7/6w) ~¥r@~
2 anN an an (9/6u) ¥ga—r=c 2L /1L € »¥0L*88 | »x0l¥6l € *»0L»61|(Ju00L/NIN) LELY
2 050 g2°0 620 (0.60) % « < 2 an an o (560 ) B
L aN aN . an (26u) v o ¢ B 2L /0 6'€L 0'0 L'9 (760 (8s)BHGHE
2 anN anN an (76u) ~ttro Tl 2L £9 bl L*g Q\msaoovw%w%ﬂ
4 aN anN anN (76w & FH # & 2L /9 £y L0 92 S\%Xaomvwwwﬁ
2 aN aN aN (7./6u) & E 2L /0 0*91L $*6 2* L (760 (00) BE@sE
2 aN an anN ( 2/6u) fig 2L /0 9*2 0°2 vl (Hd) @« Loy
v | exyw | wve | ek wow | wmyy | wvE | ek
(732 A [T U3 # Y ® d (S S
- —

-7 1-



J

/Ak\,
(sywy B W
602 $*9 8'El (2) = b2
gtag+ 0°L + 9'8L+ (2) = 3
(qu\/®) FEHY— (w) (w) H(HE) W ¥
(7.60) BREEE
(W) HFRGERE 2 /0 aN aN anN (3.60) B X W
(%) FRELH z /0 an aN aN (9 B0) ¥ 2
(7/6w) ¥ 45 2 /0 anN anN aN (2.60) (Wo)<was
(7 6u) £EEFUET 2 /0 aN an aN (76w o
(7.6w) (£THGEH 2 /0 aN an aN (2.60) 7 a3 A«
(96w ESHEE 2 /0 'R aN anN (2.60)  ~ ( ¥ &
(96w Whﬂ#\m Z /0 aN an anN (9/60)  WN A% L
2l W) 6£°0 £0°2 (76u) ¥ 8 F 2 /0 aN aN aN (g60) -~ L ~
2L 9470 ¥0°0 800 (9/60) ~¥v@0
2 aN anN an (960 ¥r—r=c 2L /0L € »¥0l#22 | »»0Ll*02 2 *¥0L%9%|(Ju00L /NdW) EHHEEY
2 vg°0 ££°0 95°0 (1.80) ¥ < <« 2 aN aN aN (r60) TR B
l aN aN aN (2680) v o ¢ W . 2L /L L*s2 0'0 0*2 (7260 (S8)EBHEGHAE
e aN aN oN (0/6u) Tt 21 sty *0 2's (7.0 (a00) (FFE*H
2 aN N aN (760) BT # 2 2L 19 2t 90 12 (5,80 (o) EXTEE
2 aN anN anN (9,6u) & i 2L /0 L€ £°6 804 (760 (o) BERLH
2 aN aN aN (7,/6u) 5 2L /0 PRy L*e "2 (Hd) Fk LBV
v [ emxyw | BvEm | Bk wou | wmyE | B | Bk
@ oM ¥ M ® B B

78 2 A TR S

—-72—



(ul/8) FRWH—
(760) BREEEL
(W) HieLEH
%) EREE
(7/6w) ZAB~¥ 35
. (7/6u) ETFHES
(76u) £TBHGBN
(96u) ETHGHE
(e ¥ ,...%
2l b2*9 69°0 2e*e (260) ¥ 8 F
2L £2°0 00 600 (7/60) <%
2 aN an an (960) Wr—r=c
2 0£°0 220 82'0 (960) ¥ <« <
l anN aN anN (g6u) v o 7 W .
2 aN aN aN (76u) TR
4 aN aN anN (26w B H # =
4 aN anN aN (7 6u) & . C:
2 anN aN aN ( 26u) i
u EEEEEEELE

(swy B W

A : -l [ TR S

6*02 §*9 2'si (2) ® R
0'gc+ 9L+ L*8L+ (2) =’ ®
(w) (w) =H(Ww) @ %
2 /0 anN anN an (960 %. ¥
2 /0 an aN aN (2,6u) ¥ 2
2 /0 aN aN an (260  (W9)vas
2 /0 anN an aN (726w 4
2 /0 aN an aN (3 80) 7 a4«
2 /0 aN an an - (06 <~ ( B &
2 /0 aN an an (7,60) ¥ x L
[4 /0 an an aN (760 s L A4
2L /2 2 *»0L*E8 | *»0Llxsy 2 »»0Lx12{(7u00L/NIWN) NEHBEAY
2 aN an aN (9,60 %W\@M»%(Mn@
TR TSPLTY: €l '8 (760 (88) BHGHS
2l 2*9 L°0 1's (760 (a00) FE*H
2L /9 9'g- s*0 02 (2,60 (q08) i e it
2L /0 g 2L L*8 0°01L (7/60) (0q) B
2L /0 9L 2°¢ 9L (Hd) Rk LB
o u | mYw | B0 | Bk
B oM ¥ @ W B® B

—73—



e

K N’
(s/w)y €& W
L*61L §*9 6'2L () = b
$*0g+ 2'L + 9* L1+ () = 3
(u\ &) FEMH— _ (W) (w) H(w) ¥ &
(7.60) BHEDE
(W an) HkLKB 2 /0 aN anN an (260) @ > %
(%) Ewm¥ E 2 /0 an aN aN (260) # A
(7,/6u) v i 2 /0 aN an aN (760  (W9)vwag
(7 tu) (ESTHES 2 /0 aN an aN (260 &
(7/6u) ¥ EH G 2 /0 aN . an anN @60 < 634«
(7/6u) ETTGEIE 2 /0 aN an aN (2.60) ~ ( W &
(76w mhuw\w ¢ /0 an aN an (7 60) N ¥ £
2L sg°g 92°0 66°1L . (9 bw) M. E 3 2 /0 aN an an (26w < L A
2l 9170 %0°0 200 - (96w ~xi 8~
2 anN an aN (960) nv—r=c 2L /9 § »»0Llefl | »x0lxL) 2 »200x22{(Ju00L/NIN)FIELY
2 650 22°0 ££°0 (960) ¥ < <« 2 an an aN (7.60) .me\mmwm@
1 aN aN anN (9/60) v o ¢ B . 2L /0 S92 0°2 v'8 (760 (s5)BHGR%E
2 aN an an (0/60) s Tfh 21 5%9 bl gs (7./60) (a00) T E*H
2 an aN an (060) B # 2 2L /s 2y 60 22 (7,/60) (qo) 35 H
2 an aN an (760) 88 & 2L /0 6*2L 0°8 6°6 (760 (0q) Bw
2 aN aN aN (7/6u) g 2L /0 s 0°2 £°2 (HY) T ¥ L 30y
u BY¥ | BvE | Bek vouw | BYE | BE | ek
78 A [T s % Y | 3 B I

-74-



(owy B U
8 61l %9 L*gi (2) = P4
: $'0s+ 90+ 0°8L+ (2) = %
(qu\, 8 ¥R H— (W) (w) H(w) @&
(760 HHERE
(Wor) B#LYEH 2 /0 o aN an (2.60) & X
%) BReYH 2z 0 an an an (96uw) ¥ a
(7/6u) ZR~v) 48 2 /0 aN aN an (76w (W9 )vas
(96u) ESTHMES 2 /0 aN an an (76w &
(7/6u) ETBFHEH 2 /0 anN an an (7.60) v 434K
(96uw) ETHBEIE 2 /0 aN an an (2.60) ~ ( W &
(7,6u) W_:huw\m 2 /0 aN anN aN (7. 60) YA *a L
21 298 89°0 99°2 (060) ¥ & T 2 /0 an an aN (06)) " ~ L =«
21 £1°0 £0°0 80°0 (7/60) ~¥v@s
2 anN an aN (7/60) Wv—r=c 2L /L § *»0L¥92 0 »x0lxvs 2 **0Lx0%|(Ju00L/NIN) BHBLY
2 £5°0 92°0 09°0 (1.60) ¥ « < 2 aN an an (060 SR B
L daN an an (360) 7 o ¢ W . 2L /1 §°62 %0 L6 (260 (8s)EBERGAR
2 aN an aN (7/6u) st Tt 2 9°s 80 9°2 (760 (a00) G E*B
2 an an aN (9 6u) B FH # &% 2L /2 b'g - £'0 Lt S\&Xoomvwwwww
2 anN anN aN (96u) & E:] 2L /0 0'si £°'8 0'01L (76w (0Q) BEREZH
2 QN an aN ( 9/6u) fis 2L /0 82 L2 "L (Hd) @< LN
u | ox®E | Bvey | B4 u/w BxE | ByvE | Bk
(722 A [T LS 7T £ ¥ & W o4 v #

—-75~



N
(syw)y E w
952 749 0%l (2) =B b
g'2c+ $'9 + L8+ () = =
(gu\ &) R H— (w) (w) () W ¥
(760) ¥REEE
(wyom) HigHBR 2 /0 an aN N (1.60) ® X
%) BREH 2 /0 an aN an (9.6u) ¥ 2
(7/6u) A~ 48 2 /0 aN an aN (7.6w) (W9)vosg
(9/6u) L£ETFEZT 2 /0 aN aN aN (960 &
(7/60) ESHEY e /0 aN anN an (80) 7 G A«
(96u) EEHERIE 2 /0 aN anN aN (2.60) ~ ( % %
(726w Whuw\m z /0 aN aN an (7,60) BN *r L
2L 66°9 £1°0 oL°2 (p60) ¥ & T 2 /0 aN an an (2.60) ~ L ~
2l 600 no..o 900 (9/6u) ~¥y @~
2 aN an anN (2 6w) Wv—r=Tc 2L /e 2 »»0L%l9 0 *x01%22 2 *»0L*91| (700l /NAW) FHELY
e 6£°0 s2*0 2e"0 (7.60) ¥ <« < 2 an an anN (7,/%4) mn%\@%k(ﬁl@
L aN aN an (J6u) v n ¢ B 2L /L £'s2 0°0 L8 (760 (s5)BEGAE
2 an aN an (7,/6u) s TS 21 s's 0°1 0'¢c (760 (a00) ¥ E*H
2 aw aN aN (260 % 5 % 2L /2 o' §*0 8°1 (7,60 (q08) B
2 el an an (7/6u) & Ei 2L /0 951 €' 401 (260 (o) BE@ELE
2 an aN aN (7,/60) B 2L /0 Ay 2*L "'l (Hd) <& L BL
i | BY® | GNE | Beak o u | BYE | BVE | Bk
M B v ol I : + % ® ¥ v #

—76—



(s/w)y & w
622 2°9 0°gl (2) = ¥
Shlg+ L'9 + 8 8L+ (2) = P2
(u\, B) WEBH— (w) (w) H(w) @&
(7.60) BHERY
(o) FieHHB 2 /0 aN aN - an (260 & X %
(%) B REH 2 /0 aN an an (960 ¥ 3
(7/6w) Z~vi$s 2 /0 aN aN an (7.6w)  (W9)vng
(9/6u) ESHHES 2 /0 anN aN an (760 &
(7/60) EBHER 2 /0 aN anN an (2.60) v 46 d«
(9/8u) EETHENE 2 /0 an an an (760 ~ ( % %
(96w MhuwAW 2 /0 aN aN anN (760) BN sL
2L 0L°9 1£°0 2e*e (p6w) ¥ & F 2 /0 aN aN aN (0.0 ~ L =
2L 210 £0°0 90°0 (9/60) ~¥y @i
2. aN aN aN (360 Wr—r=c 2L /¢ £ »%0L*0% L ¥x0lwgL 2 »»00L*25|(Ju00l / NIN) ZLHELY
2 050 82°0 62°0 (1.60) ¥ « ¢ 2 aN aN N (060  SEEE) B
l aN an aN (960) v o ¢ B 2L /2 £'¢2 0'0 2'2 (76w (SS)BHUHE
2 aN an aN (9/60) ttrsToblh 2 I 6°0 0°s (7./60) (aoo) BFE*H
2 an an an (0./60) ¥ F # & 2L /s 'S L*0 61 (2,80 (qon) FEEER
4 aN anN an (7,/6u0) & W 2L /0 L' 6°L s* 0l (760 (0q) BEHELH
2 aN an aN (9./6u) 73 2L /0 §'L r3) L) (Hd) F@ ¥ LB
u UYE | BUE | Besk wyu | BYE | BE | Bk
i B vl o &% ¥ i o v #

-77—



)

A4
(s vy E w
8°'s2 L'y S vl () = P
0'og+ 2*y + 9°8L+ (2) = %
(u\B) ¥R H— (W) (w) H(m) W ¥
(760) BREEY
(Won) B#HRIYESE 2 /0 aN an anN (26w) B Y
%) FREH 2 /0 aN aN anN (7.60) % a
(76w v 48 2 /0 an aN aN (760) (W9 )v7ag
(9/6u) ESTES 2 /0 aN aN aN (7,/60) g
(76u) ¥EEBHGH 2 /0 aN anN anN (9 60) 7 63 dK
(9/6u) ESHEEE 2 /0 aN aN an (260 <~ (« B &
00 %, ., % 2 /0 aN an an (060) BNxns
2L 0z°01 6%°0 1 L9'2 (2.60) ¥ & F 2 /0 aN aN N (260) -~ L =
2l 610 20°0 200 (06w ~¥r@~(
2 aN aN aN (360 Wn—r=c 2L /2 € ..ror_o_‘ 0 *»0i»%2 2 »»0Lx2¢|(Ju00L/NIW) HBLEY
2 25°0 £5°0 $€°0 (0.00) ¥ < < 2 an an an (r60)  SEER) B
L aN an aN (p60) v o 7 8 2L /0 L'02 6'0 §°s (760 (s8)BRGHE
e aN © N aN (9/6u) b= 2L 89 £l L' Q\%VSSVW%MM%
2 an an an (7./60) % T # 2oL 80 872 (260 (com BER LS
2 aN an aN (960) & i 2L /0 9°¢€L 0°6 9Ll (760 (oq) BEHLH
2 aN aN an (9,60 i 2L /0 8L £ §°¢L (Hd) 3 LB
v [eayw [ BvEm | Bk wouw | BYE | BrE | Bk
[ A [T 'S % 3 B & ® ¥ v #

-78—



(sw) ® W

9°€2 L*8 6°51 () = b2
82+ 8's + £ 9L+ () = ¥
22 2 *»0L#BE 0 »»0Lxsg 2 #x0la9L| (Jul B) BEmW— . (W) (w) FH(H) W ¥
(7.60) BHEDE
(War) HieQKE 2z /0 an an an (0.60) B > %
CONE-B 2:8 2z /0 aN an aN (76w % A
(./6u) )y 2z /0 o o o (26  (W9)wag
(7/6u) ESHHES ez /o an an an (960 o
(76w ¥ETH G 22 /0 an aN aN G4) v axdu
(7/60) EEHERE v /0 anN aN an (260 ~ ( % &
(7./6u) Whuwxw v /0 aN aN an (7/6w) WY+ L
iz 08"L  o0s'0 060 (00) ¥ & % 22 10 aN aN aN (r60) ~ £ =«
gz 9g°0 60°0 i2*0 (7.60) ~¥r@~
Y. aN aN aN (96u) Wnv—r=c 22 € »x0L*SL 0 »x0L%05 2 **0i*g2|(u00L,/ NIN)WFHLBLY
y 05°0 oo 9ito (260 ¥ « < 2z 10 an aN an (260  SEEEE) B
(260) 7 o ¢ M. 22 0°s 0°0 2*2 (760 (s9) BHGRE
22 an anN anN (76u) ATt 2z /0 62 Lt 6% 1 Q\%Zaoovm%www
22 1170 aN aN (0./60) % % # & (3,60 (qon) I 5=
22 0z*0 an anN (06w) ® & 22 /v 001l 6°¢€ 02 (76w (0q)BEREIH
22 aN an an (96w) fig 2 /1L $°8 8L L8 (HY) @k LB
u UYE | BIE | Beak wu T HYE | B | Bk
L2 % 8 s | # # H M

-79—



N
(s/w)y & u
8'22 6"L LTSt () = ¥
- 2'se+ 8'¢E + 0'9L+ () = %
L2 2 »x0Le95 O »x0Lass 2 »»0lx0i| (Ful/B) BEBH— (w) (w) H(HE) BT
(7/60) BHERY
(W) HEYER iz /0 aN aN N (3.60) ® X %
%) IR 12 /0 aN QN aN (7,60) ¥ 2
(74w )8 iz /0 aN an aN (76w (W9)vog
(7 6u) ESFHES 2 /0 aN N aN (260 o
(7/6w) ESHEW iz /0 aN aN aN (260 v 63 d«
(7/6u) ESTHEIE v /0 aN an aN (260 ~ (% %
(74w mhuwxw v /0 aN aN aN (7/60) B¥A L
02 §9°1 02°0 Le*o (9.60) ¥ &8 F iz /0 aN aN anN (060 ~ L
L2 22°0 0i°0 910 (2/60) ~¥v@i<i u )
Y aN an aN (2bu) Wr—r=c L2 2 %a0l¥l8 0 awo?oN 2 #»0l*eL|(Ju00L/NIN) BEEEY
9 50 an 62°0 (960) ¥ <« < iz /0 aN aN aN (260 PR B
(3,60) v o ¢ W . 12 s's 0°0 0°L (980 (s8)BUURE
12 aN T aN aN (980) Atho TR b2 /0, 92 60  9°L Q\%Xaoovamww%
iz e W aN (0/60) % % # % (2,80 (qom) X Et8
e se70 an aN (7%w) & E: iz /1 6'6 6"y st (26w (0q) BRI
L2 oN aN anN (96w) 8 12 /1L '8 8¢ 2°s (Hd) W ¥ PN
u | xe | Bvw | ek wou | BYE | BvE | Bek
AW W W oW ¥ o+ ® H W

-80—



(sywy E W
§'se £°8 91 (2) = P
2'82+  0'% 4+ 6'SlL+ (2) = %
£2 € »x0Lxll O »»x0L»89 2 »~0ix0g| (Jul /B XEHEmWW¥— (W) (w) H(H) W&
(760 BHEIY |
(W/on) HiHER €2 /0 oN aN N | (nk)  ® S
(%) I RE B £2 /0 aN an aN’ (76w ¥% a
(7/6u) ¥ 45 £2 /0 an N aN (06w (W9)v7mg
(76u) ESHHES £2 /0 anN aN aN (760 &
(7/60) ETTH@R g2 /0 anN aN an (.6) 7 644
(7.6u) ESTEEIE v /0 aN an aN (7.6) ~ « % &
(96w Whu#x% Y /0 aN an aN (200) BYrxrvs
g2 S6°€ §4°0 v8°1 (7.60) ¥ & F £2 /0 an aN aw (260) ~ L =«
g2 9£0 940 £2°0 (9/60) ~¥L@~
. an an anN (96w) Bv—r=c £2 € »x0Lv0E | *x01%25 2 *»0Lx65|(Ju00L/NIW) EHELY
Y 09°0 aN 82'0 (7.60) ¥ « < £2 aN an an (7,/60) w%w\:@
(p60) v o ¢ W . £2 0°6 0°0 2te (760 (s8)BRUTR
€2 aN aN an (7.60) b Tlh g2 /0 62 £°1 61 ,Q\%ZQSVM%MMﬁ
€2 4170 aN aN (7./60) % % # % (2,60 (a00) Gr A
£2 aN aN an - (9 u) & Fi . g2 /0 8's $'y 9°9 (760 (oq) BERLSR
£2 an aN aN ( 9./6u) BE g2 /2 9°8 82 0°‘s (Hd) @ ¥ )P
u N2 EENECE vou | BYE | ByvE | Bk
WO W R (M-S & 5 % M M

—81—



N
(sswy B w
6'v2 0'e L*9L (a) ® ¥
§'62+ 'S 4+ 991+ () = %
02 2 #+01%09 0 »»0Lw0f 2 »x0lxsl (Jul/B) REWH— (W) (w) #H(w) wZ&
(76w) HREEY
(W o) HEieDXE 02 /0 aN an an (2.60) & Y
%) ERE = 0z /0 aN aN aN (9.60) % 2
(7/6u) ZW) e 0z /0 an an aN (96w (W9 )rays
(96w) ESHBMES 0z /0 aN an aN (76w &
(76w) ETHHEH 0z /0 aN AN an (280 v 4635 4K
(7/6u) ESRGELE v /0 " QN aN aN (7.60) ~ ( B %
(o) £, % v /0 an a an (7/60) B
02 s2°2 0%°0 2Lt (260) ¥ & = 0z /0 an aN an (L&) -~ 1 =«
0z on.o. LL°0 6L'0 (9/60) ~¥i8i~ .
Yy an aN an (360 ¥a—rTc 02 C »x0L*8S 0 *»0L»02 2 *»0L*gL|(Ju00L /NIN)ZHELGY
9 09°0 an ] (26w ¥ <« ¢ 02 an an anN (9,6u) __”An b\.wv(ﬁl@
(06w) v = ¢ M. 0z s*2 00 22 (760 (s8)BHGRH
0z aN an an (0/6u) Attt 0z /0. 62 9°0 8°L (7./60) (aoo0) G ¥ E*H
0z 910 aN aw (7./60) % # & (2,60 (qom) FEEEE
02 0z2°0° aN anN (9 6u) & i 0z /0 b*oL sy 9L (760 (0q) Bwirs
0z aN an aN () 0z /s s'g 62 2'8 O
v | BY® | BUE | Bek nyu | BYE | BVE | Bek
W oW ® L R R C R # ¥ ¥

-82-



(s/w)y B W

£'92 L8 g2'91 (2) = M

TPy 0% + 8'SL+ () =& w5

‘g2 € »x0L#s2 O »x0Lwyg 2 wx0Less| (Jul/B) BHmN— (w) (w) () § &
(76w) HHERY

(Wyan) HFiGER £2 /0 anN an aN (7.60) ® > %

%) FwEH £2 /0 aN an anN (760) % a

(0/6u) vy g2 /0 aN aN aN (7.60) (Wo)vas

Q\msv ETTHES £2 /0 an aN aN (26w &

(7.60) ESHBY £2 /0 an an aN (1.60) v A«

(96u) ESHGEIE Y /0 an an aN (2.60) ~ ( B &

(7./6u) mﬁumﬁw v /0 an aN anN (060 ° N rn L

£2 0% 06°0 26" (0.60) ¥ & = £2 /0 an an aN (28) ~ L =«
£2 6970 0L°0 22'0 (9/60) ~¥L8

v aN an anN (360 Yv—r=c £2 % xx0L%21 | **0L*99 € *x0Lx02|(Ju00l /NIN)ZLLBLY

v 09°0 an ££°0 (060) ¥ < ¢ £2 an an aN (160 TR B

(96w) v o ¢ B . £2 0°s 0°0 8°L (746w (S8)BHUEE

£2 aN aN aN (7/6u) AtoTHlgR £2 /0 9'¢ £l 02 (7./40) (aoo) FFE*H

g2 2170 an an (7/60) B 7 % & (2,60 (qom) Gy A8

£2 §2°0 an aN (760) & ] g2 /0 8's 9°€ 8'9 (760 (0Q) BEHEGIR

g2 aN an N (76w s £2 /1 S8 vl 0°s (H) @ 28N

u e BEX N wow | Yy | BvE | Bek
WE 0w W I S MR R @ & W



N
(s/w)y E W
g 22 6°¢L 9°sl (a) = b
£0l2+ '€+ 2'9L+ (2) = 2
8l 2 **DLwlZ 0 »»0L¥0f | *¥0L*69 (ul,/8) WERWWH— (w) (w) #H(W) W ¥
(rtw) ¥HEEYE |
(o) HiLEE 0z /0 aN aN an (26w & X 9
% BRE = 0z /0 aN an an (7.60) % 2
(7/6u) ZHH-v) 4 02 /0 aN aN aN (76w  (W9)vog
(7/6u) *EEFHES 0z /0 aN aN aN (96w 3
(96w ESHEHY 02 /0 aN aN aN (760) v 634K
(9/6uw) ETHEEUE v /0 aN aN aN (6 ~ ( W B
(9,60 mhuwxw v /0 aN an an (060 BN Fv L
02 0L°2 §9°0 %6'0 (p6u) ¥ & F 0z /0 aN aN aN Q\ms s L A
02 %2°0 60°0 10 Aw\msv ~KVBAG
U anN aN aN (g6u) ¥Wr—r=c 02 2 *»x0L%92 0 »x01%02 | »*0Lx25|(Ju00L/NaIW) ¥EHHEEY
y 09°0 N sE'0 (180 ¥ < o 0z /0 an an an (60  SEER) RS
(960) v o 7 M . 02 $'9 0°0 $* L (76w (ss)EBRUHE
02 aN aN an (96u) ~ttroTFnigHh 0z /0 9°2 6'0 $l Q\%Xaoovm%www
0z aN N an (9/6u) ¥ FH # % (74w (09 Mwmww%
02z 05°0 aN aN (7.,6u) & W 0z /2 6'6 g's 2*L (760 (0q) BEHLS
02 anN aN aN ( 9.6u) g 0z /2 §°8 6°L 2°8 (qd) gk L
. AXE | B E | Bak v u | ANE | BEE | Wk
2= g thé H & # W M

—84—



(s/w)y B u
092 04 6°51 (a) = P
0%igs o' + 2'gl+ (1) %
(Fu) &) REBH— (w) (w) () @ ¥
(o) MHRBY
(Won) HiRDER ¥z /0 an aN aN (7.60) - > %
(%) EZwmE 5 92 /0 900°0 aN JaN (9w ¥ a
22 0°00¢L2 0°00sEl  L*60%2L (0./60) F-vras we /0 aN an aN (760 (W9)vas
(76u) £TFHES 92 /0 aN aN aN (76w 3
(76w) ¥THEH ve /0 $00°0 aN aN (160) <7 axdu
. (7/6u) EEHEEIE ™ /0 aN aN aN (16) < ( B &
“ | (o0 %, _. % v /0 an a aN (0./60)° N L
%2 s¢°2 L6°0 AN (06w) £ & T %2 /0 an aN aN (p.0w) ~ L »x
2. £9°0 £1°0 g2'0 (760) ~¥rixq
Y anN aN aN (7/6w) Bv—r=c 92 9 »x0L*8L | *x0lxss € »»0L*1€| (w00l NdWN) NEHBEY
v 850 0z*0 ££°0 (060 ¥ < < vz g2 o 9°0 (060 SEER) B
Y an aN - QN (3.60) v o ¢ W . 92 £°02 €41 0°'s Q\m@ (88) BHGH S
2 - ON an an (0/8u) Tk vz /L b*aL 6'2 0'2 Q\SVEOOVW%W%%
2 aN aN aN (0/6u) B 58 (7,60 (08 Tt
e aN aN N (76w) & E:d %2 /0 £'6 L2 L' (960 (o) BELELH
ve GN anN aN (76w fiig ve /0 £€'s Lt 0°8 (1d) Fglw 8
o BYE | B | Bek s u | mXE | BEw | Bek
i E O ¥ # M O W W # W M
—~ —~

—85—



'~ (s/m)y E W
952 9%6 2'91 (2) = b4
962+ 2's + 8L+ () = ¥
(Ju\/B) BB H— (W) (w) H(H) @&
(76u) HHEIL
(Woom) B#RIGER %2 /0 aN an aN (7.60) B ¥
, (%) BRE T %2 /0 . 200°0 an an (7,60) % a
92 0°0628L  0°SS%vl  ¥*sivil (7/6u) ZHR~w 5 v2 /0 anN anN aN (76w  (W9)vag
(96u) E£ESHHET 92 /0 10°0 an aN (760 &
(7/6w) ESHEH %2 /0 aN an aN (260 7 4634«
(7/6u) ESHgEIE v /0 anN aN anN (260 <~ ¥ &
(76w Whuw\m v /0 aN an aN (7,60) BN L
%2 22 vl 20 siL*2 (p6w) ¥ & F 92 /0 an an an (18 ~ 1 =~
T4 0L°0 £0°0 900 (9/60) ~¥)@~(
v aN anN an (96u) r—r=c ve /i 2 xx0L*2L 0 »x0lx0 0 »»01»28|(Ju00l NIW)SFHHL Y
9 60 490 L2400 (360 ¥ « < 2z /0 an an aN (7,60 mﬁﬁ\@%(wn@
8 anN anN anN (960) v o 7 W . 92 921 0°0 2 (76w (s8)ERGHE
%2 aN aN aN (9.6u) At 92 /81 2's vl g Q\%Xnoovmmm%wwﬂ
v2 an aN anN (7/6w) % H # & Q\%Xoomvm.wwww
92 an anN an (76u) o & ¥z /% 2Ll €S 98 (760 (0q) BXHELSH
92 an an an (96u) .Ew ¥ /v 98 L8 £°8 (Hgd) F@ - ¥
u oYy | BvE | Bt vou | BYE | BvE | Bex
VW @ T W o # &

-86—



(sywy ®| u
s'92 6°9 €46l () = M
g*0g+ - 0°'% + 9 L1+ (2) = %
(qui /&) WEHH— (W) (w) #H(e) B ¥
(760) WHEDE \.
(W) HiGEH %2 /0 an an an (7.60) ® X %
(%) TREH vz /0 $00°0 aN an (7.60) ¥ , a
22 0°00s42 0°00sSL  s*v0es8l (7/6u) Whl-w) 8 vz /0 aN an an (76w  (W9)vas
(7/6u) EEFRES %2 /0 an aN aN (960 &
(7./60) E£ESHEN %2 /0 an oN aN (0 t) v atdw
(9/6u) ETHBEIE v /0 aN an an (2.60) ~ ooy
(760 Mhuw\,w v /0 an an an (7/60) © W¥vevsL
92 0s°4 290 96°0 (7.6w) ¥ 8 F %2 /0 anN aN aN (p8) ~ L =
92 L2°0 20°0 010 (760) ~¥ M~
Y aN aN " aN (2/60) Wr—r=c 92 2 *x0L%25 0 *x0Lx9S | »x0Lxgg Qsoi\zmzv%ﬁﬁ@%_
v 8£°0 an 220 (060 £ < < "2 /6 L's N aN (60 SR B
Y aN aN an (p60) v o 7 W . 92 8'91 8°0 L9 (96w (8s)BHLES
e aN aN an (7.,/60) AlrsTlS: vz /zz 0% 2°2 L*9 Q\%XQOQVW%WM%
vz o a an (060) B % % % (260 (a0R) L5 2
92 aN an anN (9 6u) w g2 /9 2'6 9°¢ L9 (760 (0Q) BEESH
92 aN an an (9/6u) 3 ¥2 /Y §'8 0°8 g8 (gd) Fg w1
u BYHE | BvE | Bk ww | BYE | Bvw | B
W oW tht ¥ ¥ @ = W
—

—87—



N/
(s )y E U
§'52 6L igl (a) = ¥
00+ 0°E + 9L+ (2) B 2
(pu\/B) R H— (w) (w) H(H) W ¥
(760) HHEDE
(W on) HEQBH %2 /0 aN an an (260 % X
(%) B ® ¢ E 92 /0 . %00'0 aN aN (9, 60) ¥ a
22 0°00sL2 0°000sL 6°0%§8l (7/6w) v 28 %2 /0 T an an (76w) (W9)vmg
(7 6u) EETHES vz /0 aN aN aN (760 -
(9 6w) ETREH 92 /0 200°0 aN aN (160) <7 &xd«
(7/6u) ETHRRE v /0 aN aN aN (28 ~ ( ® &
(7./6u) %huw\m 9 /0 aN an aN (7/60) BN ¥vL
92 09°1L 040 2Lt (7.60) ¥ &8 T %2 /0 aN aN aN (3.60) -~ L ~
92 92'0 £0°0 £1°0 (760) ~¥1 ¥
9 aN an anN (g/6u) Ea—r=c 92 S wx0Ln6L | *x0b%2L 2 *»0Lx52|(Ju00L/NIN)SHELY
y 85°0 an 920 () 6) ¥ < ¢ vz  grs an 20 (060 SETEH) B
Y aN an QN (3.60) 7 o ¢ B 92 s'gl s‘0 6°9 (760 (88)BHGRS
92 aN aN an (7/6u) TSt e /9 s'6l Lt 6°S Q\%Xoo%%%%%%
v2 aN aN aw (9./60) % # 9 (7,0 (a08) i a A
92 anN an an (7,/6u) U5 W £2 /0 Lot 9 8'9 (7.60) (0q) BEHELH
92 anN aN aN (7./6u) g 92 /L 98 08 €8 E&Mﬁl@%ﬁ
u BYE | B E | Bek o u | BYE | BVE | B
e B O W # e £ 2

88—



(s/wy #& W
8'92 09 €5l (a) = ¥
Cgr6et S'E + 2lL+ (2) = %
(ul ®) FEBN— (w) (w) H(HE) W
(760) HRETY
(Wor) BRDEB vz /0 o o o (06) & %
, , %) FReH %2 /0 €00°0 aN N (26w % a
22 0°00022  0°00SYL  9'988Ll [0 25 %2 /0 aN aN an (76)  (B9)vwmg
(76u) ETFHES 92 /0 anN aN an (9./60) %
(0.60) EBFH@ ¥z /0 anN anN aN (280) 7 &> A¥
. (9 4u) ESHEHIE v /0 an an aN (268) -~ W &
ot %,_. % v /0 aN an an (0/60)« WY e L
y2 0o°¢ 40°0 60 (2.6w) ¥ 8 T %2 /0 aN aN aN (960) ~ L =«
92 62°0 £0°0 1o (9/60) ~¥L B
y aN aN anN (3/60) Bv—r=c 92 € #x0L*0l 0 »x0l*02 2 *»0L»81 (72001 /NIW) BEHBELY
9 690 aN 8E°0 (2.8) £ < < 92 /€ L2 an an (7,60 m@ﬁ%ﬂ:@
Y aN aN aN (p60) v o ¢ W 92 0'st €1 6°9 (76w (SS)EBHGRE
92 aN anN anN (76u) AtbroTlbliH 92 /L2 $'ig 0°2 9°2 Q\&quokuww%%
92 aN an aN (7./60) & F # R | (2,/60) (a08) Y et
92 aN aN aN (7/60) W £2 /s 6°0L $'s g9 (760 (o) BLBLH
92 aN anN an (96u) g 92 /9 s'g 0°e £'8 (ud) Fg Pl
u | BYE | BE | Bek s u | BYE | BEE | B
Ed W W ] #% u W

89—



\w&@/

(s )y & W
£'se 8'6 £'91 (2) & b
9462+ L'y + 9*lL+ (2) = X
(Ju\, &) RBEWH— (W) (w) #H(m) W¥
(960) WREEE
(Wom) HiGER 92 /0 an aN aN (360) B X W
(%) HR Y B 92 /0 200°0 an an (780 ¥ =
92 0°0s8elL 0°sSS9L  S*2gell (76w ZH~v ¥ ¥z /0 aN aN aN (76w (W9)vog
(9tu) L£SHBES 92 /0 aN aN aN (260 o
(7/6u) £BHBEH vz /0 aN an an (A v ard
(7 6u) ESHEEE % /0 aN an aN (2.680) -~ ( ¥ &
(o0 %, . % v /0 aN aN an (760) BN L
92 vg°¢ §%°0 £9°1 (9.60) ¥ 8 F %2 /0 anN anN aN (b)) < L &
"2 Lo £0°0 90°0 (p/60) ~¥V@~0 |
y aN aN aN (960) Wr—r=c 92 /0 L »x0Lx2L 0 *x0lx0 0 *»0Lxgl|(7u00L/NJIW)BEELY
y 86°0  99°0 £8°0 () 60) ¥ < = 2z /0 aN aN aN (60 SR B
9 aN anN aN (06w) v = ¢ W . 72 $*0L 0°0 2*y (760 (88)BEGHE
e ~aN an an (76u)  ~ttrTHA w2 /8L l'Ss  8'0 0°s (960 (ao0) B+
vz an o aN (96u) % # 2 (7,60 (Q0m) Finr s
92 anN an aN (760 & il e /9 8'0L 0°s £'8 (760 (0q)BLHLH
42 QN an an (9,/6u) s 92 /Y 9'8 2's €8 (Hd) ¥ 11
u BYH | HE | Bk wouw | myw | BvE | Bek
vV EE B B o @ % W

90—



(s/m)y & W
$'92 2*s L*9lL (a) = b
0'0s+ 0%y + 9% L1+ (2) = ¥
(pu\ /8 X% EmH— (W) (w) H(mw) W ¥

(760 WHEDY
(W o) BiHBR %z /0 aN aN aN (2.60) B X %
(%) ¥ &8 ¥ 5 w2 /0 0L0°0 aN aN (9. 6w) ¥ a
22 0°00s0z 0°0002L 8*lf6sl (76w %\kv@ ¥2 /0 an anN aN (9 6u) (W9 )vwoy

_ (06u) ESTRMET %2 /0 200 aN aN (2,61 o

(7/60) ESHEWY %2 /0 aN an an (7.60) 7 634«
. (9/6u) EESHGEE % /0 N an an (2.60) ~ ( % &
(7./%u) WhuW\m 9 /0 an T aN (080" BN+ L
v2 s9°2 98°0 6s*1L (p60) ¥ 8 T 92 /0 aN an an (960) ~ L ~

92 0y°1L 600 29°0 (7/6w) ~¥r@~
] aN aN an (96u) Ev—r=c 92 L oxx0lxll 2 *x0Lx%S S *x0L*8S|(Juw00l /NIN) LELY
Y £9°0 aN - %€°0 (g 60) ¥ < <« e /8 s'2 aN aN (760 k%x@%%(ml\mw
Y aN an an (36u) v o 7 W . 92 8'€S §'¢ 9Ll (76w (S8)EBHGUHE
2 aN aN aN (780) ~thon Tl w2 /€2 0°9L 2L vl (7./60) (aoo) ¥ E*H
vz 9270 aN an (0.60) BT # @ ‘ (2./60) (ao) GRS
"2 an an an (76u) b L €2 /6 02l 82 8"s (7/60) (0Q) BEwH
92 an anN an ( 9,/6u0) 0 w2 /9 9's §*2 0°8 (Hd) - & L8

. AYHE | G E | Bk wyu | BYE | BEE | Bek
B9 ¥ & & i # ¥ M
— ~

-9 19—



(s/m) E W
vese 04 991 (a) ® b2
£'0c+ L'y 4+ L'8L+ (2) =® %

(ui/&) BEWH— (wy (w) W) % E
(700) HREEY
(W) BRIEE 92 /0 an aN aN . (260) ® X W
(%) B®YE 92 /0 200°0 aN aN (06w ¥ E
y2 0°0sigl  0°029€L  6°292Ll (76w Z~v) 38 92 /0 anN aN anN (26w) (W9)vasg
(76u) ESTHES 92 /0 aN anN aN (26w ]
(7/60) £SHEN 42 /0 an an aN (9,60) 7 & AK
(9/6u) EZHBRE 4 /0 aN aN aN (260) -~ W &
(96w Wﬁu#x% v /0 an aN aN (96w)  WNwevL
"2 89°9 $€°0 T (7.bw) ¥ & F vz /0 aN aN an (9.80) -~ £ =~
%2 S.m %00 L0'0 (7/6w) ~¥i@~
Y aN aN aN (g/60) v—r=c 92 L %x01%09 0 ¥x0L*0 0 »**0iL*g¥|(Ju00L,/NIN) FHEBEY
Y 06°0 14°0 28°0 (p.6u) £ <« « 22 aN aN aN (26w mm .,EWWH:
Y aN aN aN (960) v a ¢ W . v2 9 gl s'0 L*s (260 (ss)EBHRGRSE
v2 o o an (9/6u) ATtk %2 /0, 82 by 6's (260 (a00) BFE*E
vz a an an (960 B # 2 (.80 (aow FEF AR
92 aN anN anN (96u) & E:l g2 /0 LA 8°s L'8 (760 (o) BEWLH
92 anN aN an ( 9/6u) i 92 /s 9*8 2's8 £'8 (Hd) F- ¥ L BL
v | BYE | B0 | BeE wyu | BXE | BUE | B
B oW M i | -1 # H ¥

—-52-



(gu\,/ ) REmH—
(760) EHEEY
(o) HEYER
%) EFREEH
92 0°06%02 0°02%9L 8°66281 (76u) T ) e
(9/6u) EETHIS
(7 60) EBHEW
(76u) EEHEE
(6w %,_..%
92 £0°¢ ££°0 02°1 (260) ¥ &8 T
92 b1 20°0 s0'0 (9/80) ~¥V @~
L X aN an aN (96w Wr—r=c
Y 00°1L 69'0 ¥8°0 (p60) ¥ < <
9 QN aN o (760) 7 o ¢ W .
ve aN anN aN (96u) ttrTlR
2 0L°0 aN an (760) B R #H %
ve an anN aN (9 6w) B ]
92 aN anN aN (76w b
u EEEBEXEEEET
M B v % 8
N

(s/uy E w

s‘ee IS 9°91 (2) = N

0*ge+ 9°S + 9 2L+ (2) = =t

(w) (w) H(H) W ¥

92 /0 an an aN (p.60) & X H

9z /0 2000 anN aN (96w ¥ 2

%2 /0 aN aN an (9./6u) (W9 )vnsg
92 /0 an aN aN (960 &

¥z /0 anN N an (760) 7 4 d¥&

9 /0 an an aN (76w o0 W OE

v /0 an an an (7.60) @ EvL

e /0 aN an aN (9.60) ~ L »~

92 /0 L »x0L%EL O »¥0iLx0 O »»0lxg8L|(Ju00L/NIN)BHBHY
AT

22 10 aN an an (60  EER) B

92 0'iL 00 9°Y (760 (8S)EBGEE

92 /9L §*S 8'0 §°2 Q\%Xaoov%%wwﬁ

(7,60 (a08) B 28

vz /2 9°0L 9*s 6" (76w (0q) BT

v2 /¢ 9'g 0‘s §£'8 (Hd) gL BUL

wyu | By | BrE | B

H B B¢ % # ¥H W

93—



A

(sywy H w
s'g2 2°6 99l (2) =’ M
8'82+ v's 4 8'LL+ () = =4
(u'/8) YR H— (W) (w) H(m) W ¥
(760) HREIY |
(Wom) HiYSB 92 /0 anN an aN (2.60) & > 9
(%) FRY % 92 /0 %00°0 an aN (96w % a
ve 0°0628L 0'0925L 8*65ill (7/60) Hry s %2 /0 anN an an (76w  (W9)vag
(96u) ESHHET 92 /0 an anN an (260 - 7
(7/6u) £EBHEY v2 /0 aN aN aN (26w v a3 ¥
(96u) LESHYEIE " /0 aN an aN (26w  ~ ( ¥ &
(76w mhuwxw v /0 an anN aN (7/60) WAL
42 86" L5°0 v8°1 (p6w) ¥ 8 F %2 /0 aN an aN (26w ~ L ~
92 L0 %0°0 90°0 Aw\msv ZKVBA
Y an aN aN (960) Wa—r=c 92 L *x0Ll%8. 0 »x0l*0 0 »*01>18|(Ju00L/NIN) EILBLY
y 06°0 99°0 £2'0 (9.60) ¥ < «¢ 22 /0 aN aN an (9./60) mu%ﬁ\@m%(ﬂ@
9 anN an anN (960) v o 7 W 2 §r22 st 1 £°¢ (060 (88)BEHGAA
2 aN an aN (§6u0)  Athro TS w2 /2L 9'9 Lol 2°s (760 (a00) FHE* B
vz 0970 aN aN (060 % % # @ (7,60 (a0D) i B
e an an an (7/6u) % E €2 /0 2rel vs £°8 (760 (o) BEEH#
92 aN an an (96u) iz ¥2 /8 9'8 L8 £°8 (Hd) FHE L8
u BY® | 9w | Bek vyu | BYE | BvE | Bek |
e B 9 % B . & i ¥ ¥ ¥

-9 4



(sywy EH u
9*se £°01L 921 (2) = M
s'gz+ 2's + 7 8L+ () = =
(ur/8) FEBH— | (W) (W) W(e) @ B
(7.60) HFHEDE
(W o) Hipg 5B vz /0 an aN aN (2.60) B X %
(%) FRECH 92 /0 200°0 an an (9 6u) ¥ 2
42 0°5948L  0°SL29L  §°.£i81 (7/6u) v e vz /0 T an anN (76w  (W9)vays
(7/6u) ESHHES 92 /0 an an aN (760 vl
(76w) ¥=EH @ vz /0 aN oz.‘ an (93.60) v a4«
(7/6u) ESHWEIE v /0 an aN aN (3.60) ~ ( % &
(96w “MNHW\,W v /0 an AN an (7.60) BN L
\X i8°S1L £2'0 ge‘e (96w ¥ & F %2 /0 aN an aN (p6) -~ L =«
2 %270 €00 200 (06w ~¥L@~u
9 anN an anN (9/6w) ¥r—r=c 92 € #x0l¥%l 0 »x0lx0 2 **0ix1L|(Ju00L/NIW) FHELY
9 £8°0 290 200 (p60) ¥ < ¢ 2z /0 an an N (9,/6u) mnw\mm%(ﬂm&
9 aN anN aN (3.60) v o 7 B . 92 §*L $*0 LYy (26w (88)BEUER
v2 an an an (7/60) TS b2 /9 02 $*0 ¥ (7./60) (a00) G- B+
vz 8270 an an (060) % F # 2 (260 (q08) G358
72 an aN aN (76w) & E: 92 /0 6°LL 9°s 0°8 (760 (0Q) BERELS
92 aN an aN ( 7,/6u) b 9z /s L8 08 €8 (Hd) 3Fg - L3
u DYE | BEH | Bek wyu | BYE | BEE | Bek
i B g ¥ @ M #® H #® # ¥ ¥

95~



2,

o

N’
- (s/w)y E u
£412 601 0°Li (2) = 4
: vt L2+ Sy + 9 L+ () B %
(Ju\ B) FHEH— (W) (wo) #H(H) W&
fi i
(76w) HHEDY |
Aéo\as HRIXR v2 /0 aN aN aN (p60) & > %
| % EREH 92 /0 £00°0 aN anN (9. 6w) % a
92 0°0£l6l 0°si2il  B8'65%8L (76w Tl %2 /0 aN an aN (76w  (W9)vag
Q\m@ EERHET 92 /0 10'0 awN aN (76w &
(76u) E£TBFHBH ¥z /0 aN aN an (g6w) v 44«
(76u) ESTERE 9 /0 an an aN (2.60) -~ ( B &
(76w “Mhuw\w v /0 aN aN aN (7/60) WM xv L
v2 68" Y 62°0 £2°1 (26w) ¥ & F 2 /0 aN an an (760) -~ L =
L X 8L°0 20°0 s0°0 Q\mé ~EVBA
L aN aN aN (g60) Wr—rTc e /0 L *x0L*l% 0 »x01*0 O »+0L*s%|(Ju00l/NIN) XHHBEY
9 28°0 65°0 120 (p60) ¥ < < 2z /0 an an an (9,/60) Mnm\%ﬂmﬁv
9 aN an aN (9680) v o ¢ W . ve L'y 00 0" (760 (ss)BRGHE
v2 aN aN an (760) T ve /8 8's 90 6'1 (760 (a0o) [ E*H
. EXzIg
92 710 an an (060) B F # R - (760 (@09 gzt
92 an anN aN (7.6u) @& £ 92 /6 0'0L 9°s L2 (96w (0q) BE@ELH
92 aN anN aN (7,60 g 92 /14 9°8 L°8 £°8 (Hd) B LB
u ayy | Bvw | dex wouw | o @yw | Brw | Bex
i B¢ v ¥ B e} H & # &H W

-9 64—



(sywy H u
892 70l Iy () = ¥
2teas 0%¢ + 28+ (2) = %
(Pul/ &) EEmH— (w) (w) (W) W%
(760) BREIE
(o) FRDER "2 /0 aN aN an (760 B Y %
(%) FREH %2 /0 200°0 aN anN (760) % a
92 0°0L%8L  0°0%6SL  L°€£241 (0/60) Hwr s %2 /0 aN AN anN (08  (W9)vas
(7/6uw) *£TFHES vz /0 L0*0 an aN (960 4
(7.6u) £TH@H "2 /0 aN aN aN (7.60) 7 4344«
. (96u) ETHGEYE 9 /0 aN anN aN (7.6 ~ ( % &
_ (96w Whnwiw v /0 aN an aN (7,60) A+ L
v2 6L°¢ 120 $8°1L (26w ¥ & F 92 /0 an an an (p.8) ~ L ~
2 62°0 £0°0 60°0 (960) ~xrdi~
] aN aN aN (96w) Wn—r=c 12 9 »#0L»2L O »x0Ll»0 € »»0ix11|(7u00L/NIW) GHHEEY
y 18°0 65°0 69°0 (7.6w) ¥ <« <« 22 /0 aN aN an (7./6u) an\%ﬂ@
9 aN aN anN (968) v o 7 W . 92 s'gl 0'0 8y (760 (s8)BEHGEHE
%2 aN an aN (9 8u) T %2 /6 0*0lL s'L 2's Q\%Xooovm%wmw
92 0L°0 aN an (7.60) B F # &% Q\%VSOQMWWM%
92 anN anN an (9.6u) & E:} ¥2 /0 s'zlL 2's 0°8 (760 (oq) BE@HH
92 aN aN an (760 73 2 /2 i'8 9y [ (H9) @<k Ly
u Bxy | #yvE | Bek wow | By | Bew | Bek
e B g ¥ # M 2 M H Y # ¥ MW
P N

57—



P

N
(sywy B W
bele 6L 991 (2) = R4
0'Ls+ 0's + c*8L+ () =B s
(qu\/8) R H— (W) (w) H(m) W ¥
(760) HFHEDY
(Wyom') Hie L BE %2 /0 aN an aN (060) # >
%) BF®REH 92 /0 2000 an an (760 ¥ a
42 0°00sgL  0°00SEL  2'%Sg9l (7/6u) w48 92 /0 an an an (9.60) (BW9)vos
(96u) £ESHPES “42 /0 an an aN (260 o
(76w £EHGEY %2 /0 %000 aN anN (760 7 63 A&
(7/6w) ¥ESHYEIE v /0 anN aN an (76 ~ « B &
(96w Whuw\m v /0 aN an aN (7./6u)  W¥AxrvL
%2 S5°¢ s6°1 L2t (p.bw) ¥ & % v2 /0 aN aN an (960) -~ L ~
%2 89°0 20'0 9€'0 (7/6w) ~¥r@~
Y aN aN an (96uw) Er—r=c 92 9 xx01%95 2 *x0L*65 S *»01xL€|(Ju00L /NIN) GEHEEY
y £9°0 an 1500 (p.60) ¥ < ¢ 02 Ls an 9°0 (060 S B
9 anN aN anN (96w) v o 7 W . y2 $*91 0°s L8 (760 (s8)EBGHE
2 an aN aN (9./8u) ATt vz /6.  0°02 62 2'8 Q\%Xooovm%wwﬁ
vz 22" 0 aN an (7.,60) & F # % (7./60) (a0@) WM%M%
ve anN anN anN (76u) % ) 2 /0 6°8 L2 £°S (76w (0q) BLHHH
92 an an an ( 9./%u) fis %2 /0 58 §2 6'2 (Hd) @& L 3B
u BY® | BvE | Bk wow | mym | BvE | Bedk
B B O ¥ W 9 o Y # W M

—98—



| (s/w)y B W
0°s2 g°8 $°91 (a) = b
_ €408+ 9y 4+ 8 LL+ (2) w %
(ful/B) WD W— | (W) (W) W) ¥ B
(7.60) HHEEE |
(W) HigSE 92 /0 aN anN an (260 & X %
%) B REH 92 /0 2000 aN aN (06w) ¥ a
92 0°s608L  0°s8el  6'9l2st (2/60) H-x) 3 92 /0 aN an an (2.60)  (W9)vwug
(76u) £EFRMES %2 /0 aN aN aN (96w %
(76w ETHGEW 92 /0 aN an aN (6w 7 axdxu
. (2/6u) ETHGERE 9 /0 aN N aN (780 -~ (« ¥ &
(96w %huwxw v /0 aN an aN (9,/60) © N Axrw L
92 i5°L L£°0 002 (16w ¥ & F ¥z /0 aN anN aN (p80) ~ L »
"2 7170 s0'0 800 (7/60) ~¥riq
y aN aN an Q\%sv, Wa—/ Tc 9?2 2 »x00»22 O »x01»0 | »»0Lxc2| (w00l /NIN)¥HBEY
9 68°0 '09°0 2.0 (9 60) ¥ < <« 22 /0 an an an (7.0 %W\%Mnmr
9 aN aN aN (p6u) v o 7 W %2 901 0°0 9 (760 (88)BHGELR
e N aN L (0/6u) AtbTh "2 /9L 9°LL s 1 6'€ Q\%Xmoovmymmmw
v2 aw a o (0/60) B % # & | (7,60 (dog) F RS
”2 aN aN aN (9/6u) & il L 901 8*Yy L'8 (76w (0q) BE£HLS
92 aN an aN ( 7./6u) g %2 /S 9°8 1°8 £'8 (HI) F@ v LY
u AYE | B E | Bk v u | WY | BRE | Wk
73 s i S f & § & # &= M

— 9



o~

K
| OZ0N u
£'91 L' 6°01 (2) = X
§'82+ 0's + AR (2) = %
(u'/8) FHEHH— (w) (w) (M) WE
(7tw) HFREEE
2L s e 29 (Won) HReGER 2 10 oN an an (26 # ¥
(%) BRGE 2 /0 aN aN an (7.60) % a
(7/60) w8 2 /0 o o N (2,60 (W9)vag
(0/6u) L£ESTHEZ 2 /0 an an aN (260 L
(7/6u) *SHEH Z /0 an aN aN (0.0) v Gard«
(96u) ESHEEE 2 /0 aN an aN (2.00) -~ ( % &
(06w Wbﬂ#\m e /0 an aN aN (06w) W evL
2L Lt 12°0 15*0 (00) ¥ & 2 /0 aN an aN (3 60) »~ L 4
21 00°0 00°0 00'0 (7/60) ~¥vEq ‘
2 aN aN an (9/60) Wv—r=c 2L /9 L »%0L*82 0 »»0L»0 0 **0Lx%6|(Ju00L/NIN) SHEEY
2 an an an (7 60) ¥ ¢ <« 2 b2 an g1 (9./60) ﬂmﬂm\%@m&
2 aN an an (360) 7 o 7 W 2L /e L'g 1*0 Lel (76w (SS)BHGHE
2 anN aN anN (9/6u) b 2L /9 LA §°0 £ Q\&Xao@%%%%ﬂ
2 o a an (7,60) ¥ T # % 2 stz 50 £ (260 (q08) i m i e
2 aN aN an (7/6u) W E:d 2L /s 9°0L 9 L8 (260 (0Q) BE@HS
2 aN aN an (9 6u) g 2L /0 ) 0*¢ £ (pd) Fg e LB
u BY¥ | BvE | Bk wow | myw | BvE | Bedk
WmH v VR @ ¥ b F M w o ¢

—100—



(s/;w)y & W
€'y £'s 8'6 (2) ® R4
062+ 0's + Shul+ () = =
(pu\ B) BEBH— (W) (w) H(w) W&
| (760) BHEDY
2t $L 69 £9 (W) HiRGBR 2 /0 aN aN an (2.60) B X %
%) EFRem 2 /0 aN aN an (9 60) ¥% a
(0/60) rr 2 /0 o o o (060 (W9)vas
(76u) EEFHET 2. /0 aN aN aN (760 o
(76w ESHEH Z /0 an aN an (760 v 4sxd«
(7/6u) SEEHEEE 2 /0 N an an (0.6) <~ « % &
, (9./6u) Whuw\m 2 /0 aN aN aN (760)° ¥ sas
2l 0.°0 00 0s‘0 (p.60) ¥ & T 2 /0 aN aN aN (2600 ~ L ~
2L 10°0 000 00°0 (2/80) ~« e ‘
2 anN aN an (360) Wv—r=c 2L /L1 L »x0L%82 0 *»01*2 L *»0Lxgl|(Jw00L/NIWN) BELBEY
2 aN aN an (7 tw) ¥ < <« 2 6'1 L'0 €1 (7./60) mﬁm\ﬁ&mx@
2 aN aN anN (2/6u) v = ¢ W 2L /s s'L %°0 0L (760 (s5)EBHUESE
2 aN an anN (0/6u) Atk L /2 02 %0 2' Q\&Xao&%%%%ﬁ
2 QN an aN (76u) B F # % 21 9°1 L0 6°0 (2.8 (qog) (i EE
2 N aN - ON (7.6u) % B L /9 - 8'0l L*s 0°8 (76w (o) BE@LH
2 aN aN aN ( 7,/6u) e 2L /0 s*2 29 2L (Hd) 3 L3
v | BYE | BIE | Bk v u | BYE | BVE | Bk
WMV VR & * 3 B o «

-101-



P

L mEVVEH

N
(s/w) ¥ u
2'st vis 1°0L (2) =13 X
hea+ £'v e gthue (ay = %S
(u),/B) REHH— v S . | (W) (wo) FH(ee) ¥ &
| | (700 EHERG |
2 s 8 29 (Wwom) BRDEB 2 10 N N o | (E) ® ¥ W
% TRYH 2 /0 N aN an- (0fw) % A
(7/6u) Fhl-¥) 35 2 /o N aN N (9,6w) (W9)vas -
(96u) ESTHMES 2 /0 aN an an (26w &
(7/6w) ¥THEH 2. /0 aN . aN N 8w v ardH
(9/6u) ESHERIE 2 /0 aN anN anN (2.80) ~ ( % %
, o (7./6u) w‘nuw\m Z /0 aN aN aN (7/60) BN v L
2i 69°0 62°0 870 (760) ¥ & % 2 /0 anN aN QN (p60) ~ L =~
2L 10°0 00°0 - 00°0 (7/60) ~+«rdi~q
2 aN an an (3./6u) W?T.\Hn 2L /01 § #x0L¥l% 0 *»x0lxg 2 *»»0Lx0%|(Juw00L/NIW) SEHELY
2 aN aN aN (p.60) ¥ <« < 2 9l 60 2L (60) S B
2 an aN aN Q\m& voo o7 2L /Y sl 2'0 6'0 (76w (s8)BRLGAE
2 aN aN an (90 T 2L L et §*0 L (260 (a00) & E*H
2 N o an (260 B % # 2 2L £ 2'0 0°1 (7,60 (a08) i m 8
2 an aN an (9/6u) & i 2L /s Le2L 6°S v'g (960 (0q) BEESH
2 aN aN aN .Q\m& i 2L /0 9L L*2 £°2 (Hd) 3@ ¥ LU
" ANE | WE | Bek | o u | BYE | BYE | ek
&8 | ® o

-102—



(som) ® m

(pu\ 8) BRHEMH—

(p60) BHEDY

b $L 6 ) (won) BGBH

(%) EFRY 5

(7/60) HoryiE

(7/6u) £EFHES

(7.6u) (BTG

(96u) ETHEEUE

(e %, ,.%

21 9.°0 £i°0 690 (0f) ¥ &8 5

2L 20°0 00°0 Lo‘o (9/60) ~¥i@~(

2 aN an an (9/60) n—r=c

2 an aN aN (9 00) ¥ <« <

2 aN an an (2.6u) v v ¢ W .

2 an an an (J80) ATl

2 aN aN an (76u) B H # %

2 aN anN aN (760 % W
2 aN aN aN (g.6u) 3

u BY¥ | Bvy | Bea
mEVVREE

2'si £°s - §°01 () ® ¥
8'52+ 2' + £ 9L (2) . B %
(W) (w) (W) W ¥
2 /0 an aN an (2600 & X %
2 /0 CaN aN “aN - (7w ¥ a
2 /0 o o o (0 (W9)vas
2 /0 aN aN aN (76w o
2 /0 aN aN aN (8w 7 64«
2 /0 aN aN aw (7260) ~ ( B &
2 /0 aN aN an (7/60) BN s
2 /0 aN an aN (g80) ~ L ~
2L /0L 2 »»0L*92 0 *»0lwsl L »»0l»2%|(Ju00l /NIW) GHBLY
2 6'1 L'0 v | e GEERE%
2L /2 82 €0 £°1 (76w (s5)BEGRA
2L /s 9*1 9°0 01 (2.0 (a00) GF E*H
2L £ 2°0 Lo (2./60) (o) I B AW
2L /g 0'LL £'9 '8 (7260 (0Q) BERESH
2L /0 AY) L*2 R AP (Hd) gk )Pl
wyw | BYE | BEE | e .
i M@ M o o

-103—






